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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 7532293643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the following words in a logical and meaningful order.

1. Yotta Byte

2. Tera Byte

3. Exa Byte

4. Giga Byte

5. Peta Byte
Options :

1. % 2,53,1,4
2.94,2,5 3,1
3.%4,52,1,3



4. % 4,5,2,3,1

Question Number : 1 Question Id : 7532293643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fapey &1 994 B g 9 2regl &1 Ue ardfes A fear g |

1. gieT §18e

2. A STEC

3. URITdIRC
4. 7N §TSC

5. UCI§1ge
Options :

1. %2523, 1,4
2.94,2,5 3,1
3.% 4,5,2,1,3
4. % 4.52,3,1

Question Number : 2 Question Id : 7532293644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the next letter in the below sequence.

B,D,G,[,L,N,?
Options :

1. * P

2.% 0

3.4Q

4. % N

Question Number : 2 Question Id : 7532293644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



9 e o Uy =g (2) & I W 3 aTd 31eR 1 994 fawed ¥ Hifor|

B,D,G,I,L,N,?
Options :

l.% P

2.%0

3.Q

4. % N

Question Number : 3 Question Id : 7532293645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Among the following words, which one will come third if they are arranged as per their order in an English dictionary?
Options :

1. ¥ Precede

2. * Precious

3. # Precast

4. % Preacher

Question Number : 3 Question Id : 7532293645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faseal § 3T 7TU Ssal o1 A SIS WUeadh I & AR HarYd fara ST, ot TR RIF TR &1 1T eg T2
Options :

1. ¥ Precede

2. # Precious

3. #* Precast

4. % Preacher

Question Number : 4 Question Id : 7532293646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the correct option that indicate the arrangement of following instruments in a logical and meaningful order.

1.Violin
2 .Flute

3. Whistle
4.Piano
5. Cello

Options :

1. % 5,3,1,2,4
2.93,2,1,5,4
3.%2,3,5, 1,4
4. % 3,2,4,5,1

Question Number : 4 Question Id : 7532293646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fapey &1 99 I fSrad 9 2rsgl &1 T ardfes A fear g |

1. drafeH

2. Srgd

3. 9iet

4. o
5.9l
Options :

1. %531,2,4
2.93,2.1,5,4
3.% 23,5, 1,4
4, % 3,24 5,1

Question Number : 5 Question Id : 7532293647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How will ‘QYULBJZU’ be coded in a coding language which has also been used to code ‘SLYTHERINE’ as “TNZVIGSKOG’?

Options :



1. ®* GRYFINDOR
2. ¥ RAVNCLAW
3. ¥ HOGWARTS
4. % HUFFLEPUF

Question Number : 5 Question Id : 7532293647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP e YT H 'SLY THERINE' &1 'TNZVIGSKOG' % ¥0 H ®18 fohdl SiTd g, ST U & 'QYULBIZU' &1 I8 T gNI?
Options :

1. ¥ GRYFINDOR

2. ¥ RAVNCLAW

3. # HOGWARTS

4. ® HUFFLEPUF

Question Number : 6 Question Id : 7532293648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the word ‘FLOOR’ is coded as ‘132’ in a particular coding language, then how will ‘BROE’ be coded using the same language?
Options :

1. #® 240

2. % 120

3. ¥ 80

4. % 24

Question Number : 6 Question Id : 7532293648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe; forelt o=y SIS T & 'FLOOR' TMeg B '132' & U H SIS a1 STl B, Al ST UTHT BT SUINT FXh 'BROE' B Hdl dliSd [l
I TaIT?

Options :

1. # 240



2. % 120
3. ¢ 80
4. % 24

Question Number : 7 Question Id : 7532293649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Given below are two statements and two conclusions. Consider the statements to be true even if they are at variance with commonly known facts
and decide whether the conclusion/s follow the given statements.

Statements: Some peanuts are cashews.
Some cashews are walnuts.

Conclusions: I. All cashews are peanuts.
I1. All walnuts are cashews.

Options :

1. % Only conclusion I follows.
2. % Only conclusion II follows.
3. ¥ Both the conclusions follow.

4. % Neither conclusion I nor II follows.

Question Number : 7 Question Id : 7532293649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 1 B 3R & Fhy feU T8 § | S &1 9o AT g, 81 d o= 1d adl A fd Udiid gid &1, a9 s foh & - ¥ ey fqu g
HY BT TRV R B |

HY:
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Options :

1. ® $Had [T5HY [ 3RV HRaT g |

2. % Had FAHY 11 SR TR |

3. % g FIpY SR R g

4.« A THY 1 SR T G 11 SR HRaAT |

Question Number : 8 Question Id : 7532293650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the following words in a meaningful order.

1. Femtometre
2. Micrometre
3. Attometre
4. Millimetre
5. Yoctometre

Options :

1.953,1,2,4
2.% 3,52, 1,4
3.%2,3,5,1,4
4. % 3,5 1,2,4

Question Number : 8 Question Id : 7532293650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fawey o1 9a Hifve fSad g wrsgl &1 T I H fear mar |

1. Thic e
2. AISHIHCR
3. e
4. forceeR
5. gige e

Options :
1.95,3,1,2,4




2.%3,52,1,4
3.%2,3,5,1,4
4. % 3,5/1,2,4

Question Number : 9 Question Id : 7532293651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

Gym : Workout : : Lounge : ?
Options :

1. # Spot

2. % Research

3. # Sell Painting

4. ¥ Relax

Question Number : 9 Question Id : 7532293651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I fared o7 70 B3 S IR Teg § I THR Gafed g Ford TR gIRT Weg, U Vee I Jafdd 3

o . oy« AR ;2
Options :

1. % ¥

2. % 3fTHYU

3. # Ui famy

4. ¥ 3RMH

Question Number : 10 Question Id : 7532293652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word pair in which the two words are related in the same way as are the two words in the given pair.



Beginning : Inception
Options :

1. % Anger : Conciliate

2. # Pleasure : Drag

3. # Truth : Falsity

4. ¥ Different : Contrasting

Question Number : 10 Question Id : 7532293652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 XMeg H BT I v, orerd fau 710 < wrea! & 98t Taiel g ot Uy H U 71U 2reg T & Wsal A B

YISHTT : 3RY
Options :

1. % Y : g
2. % 3G : HYU
3. % g IAdT
4. ¢ 147 . faum

Question Number : 11 Question Id : 7532293653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

Scientist : Lab :: Sailor : ?
Options :

1. # Stage

2. # Factory

3. # Site

4. ¥ Ship



Question Number : 11 Question Id : 7532293653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fahed T 99 B S AR UG 9 S UHR Hafed § o UHR gIR1 U¢ Ugd Ug ¥ Hefid g

AN - TARTRITE - fde : 2
Options :

1. % °g

2. % ORI

3. % WA

4. ¥ SIgiol

Question Number : 12 Question Id : 7532293654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct alternative to indicate the arrangement of the following words in a logical and meaningful order.

1. Retail
2. Customer
3. Production

4. Manufacturing
5. Sales

Options :

1.¥4,3,1,5,2
2.% 4,3,2,5,1
3.% 3,4,2,5,1
4. % 3,4,1,5,2

Question Number : 12 Question Id : 7532293654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fashed &1 Iu- PifoTe Forgw Y wrsgl &1 U I vH fear man g
1. G (Retail)




2. Ulgh (Customer)
3. 3dla (production)
4. fafmtor (Manufacturing)

S.W(Sales)
Options :
1.94,3,1,5,2
2. % 4,3,2,5,1
3.%3,4,2,5,1
4. % 3,4.1,5,2

Question Number : 13 Question Id : 7532293655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words have been given, out of which three are alike in some manner and one is different. Select the odd one.
Options :

1. *¥ Proposition

2. # Supposition

3. % Hypothesis

4. ¥ Experiment

Question Number : 13 Question Id : 7532293655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fashedl IR Teg AU ML &, foraw ¥ 1 el TR & T1a § SR TP ST § | I ST Reg BT 99 HIor|
Options :

1. # UXIId (Proposition)

2. # DU (Supposition)

3. % UR&Heu (Hypothesis)

4.« TR (Experiment)

Question Number : 14 Question Id : 7532293656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Four words have been given, out of which three are alike in some manner and one is different. Select the odd one.
Options :

1. # Peculiar

2. # Particular

3. ¥ Ordinary

4. ¥ Unique

Question Number : 14 Question Id : 7532293656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o IR reg AU L &, foraw ¥ i el TR & W1 § IR T ST § | I ST Reg BT 99 HITor|
Options :

1. % 3YTYRUT (Peculiar)

2. % J%ﬁ'l'g(l)articular)

3. % YIYRTU[ (Ordinary)

4, ® &@?‘ﬂ'q(Unique)

Question Number : 15 Question Id : 7532293657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the given statement and conclusions carefully. Assuming that the information given in the statement is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statement.

Statement: Parents are ready to pay any cost for the best education of their children.

Conclusions: . Parents have an obsessive passion for a perfect development of their children through schooling.
II. All parents these days are very well off.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. ¥ Both conclusion I and II follow

4. % Neither conclusion I nor II follows



Question Number : 15 Question Id : 7532293657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7T HHT 3R FISh Sl &1 & 9 U | I8 HTd gU o S § &1 T8 OHeR] 9 §, Hdl 81 98 9 U 3 1A 9 & A1 faaror
P! 81, au Feifa 3 b g T S1-91 P o 1 dife $U J 3RV a1 g
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Options :

1. ¥ $Had [T5HY [ 3RV HRaT g |

2. % Had FApY 11 SR SR |

3. % B [ SfR1I EHI SFERUI a8 |

4. % T3 By 179 8 11 SIIRRU Rl B |

Question Number : 16 Question Id : 7532293658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the Venn diagram that best represents the relationship between the following classes.

Rats. Rabbits, Cats
Options :

72\
YL



2‘\-_;') Q

3. %

4, %

Question Number : 16 Question Id : 7532293658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 T 3G &1 994 I ol HYfaRad avll & did & ey bl Taiad ¥l ¥ FReUd Bl g |
g, W, fefeemat

Options :

A o

| |



2.¥

Y
N

Question Number : 17 Question Id : 7532293659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the answer figure that is related to figure C in the same way as figure B is related to figure A.

ProblemFig,

A B
Answer Fig,

2

2

Al
2

| A

Options :

>
®
[

Question Number : 17 Question Id : 7532293659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Eﬂﬂﬂémianwer fig.) B1 TG HIoTY Gl ATHId ¢ Y U HHR Yaid g o UHR HIHA B ATHd A Y
Tafed gl

el TR

1 2
Options :
1% 1

2_%2
3.4 3
4.% 4

Question Number : 18 Question Id : 7532293660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the Venn diagram that best represents the relationship between the following classes.

Norway, Countries, Johannesburg
Options :



3. %

Question Number : 18 Question Id : 7532293660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 94 2R BT 994 BT ofl FHIRId a¥ll & dig & Yae bl HaraHd o7 3 Meiud Bl g
T4, 91, Serge
Options :




Question Number : 19 Question Id : 7532293661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option figure that will replace the question mark (?) in the following figure series.

v

¢




Question Number : 19 Question Id : 7532293661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faehedl § T 39 1 Td 1 T SIFTU Sl g 2fiehfd Jad H Uy &g (2) & RIF W AU |

/N4
'hﬁ;\ >

K







Question Number : 20 Question Id : 7532293662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Following figure contains how many triangles?

Options :
1. % 19

) ® 20
3 % 21

o b |



Question Number : 20 Question Id : 7532293662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 siiepfa o faba Byel g2

Options :
19

General Awareness



Group Number : 2

Group Id : 753229196
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awareness

Section Id : 753229196
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229235
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7532293663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first president of Women's Indian Association?
Options :

1. ¥ Annie Besant

2. % Margaret Cousins

3. % Kamaladevi Chattopadhyay

4. * Herabai Tata



Question Number : 21 Question Id : 7532293663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hfgdl YR I9 (Women's Indian Association) &I Y feme H U2
Options :

1. ¢ T a¥e

2. % OERE Hioy

3. % B! Ig e

4, ® ERISTS TTel

Question Number : 22 Question Id : 7532293664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Rashtriya Janta Dal (RJD) formed?
Options :

1. ¥ 1997

2. % 1996

3. % 1999

4, % 1998

Question Number : 22 Question Id : 7532293664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP ST &d (RID) T 716+ b I febam w7t
Options :

1. ¥ 1997

2. % 1996

3. % 1999

4. % 1998



Question Number : 23 Question Id : 7532293665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did the drafting committee headed by Dr. B.R.Ambedkar submitted a draft constitution of India to the President of the assembly?
Options :

1. #* 21st Jan, 1948

2. % 27th June, 1949

3. ¥ 21st Feb, 1948

4. % 28th Nov, 1948

Question Number : 23 Question Id : 7532293665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST 1. 3R 3SR i 3reherd H ey JfHf § HRd Jfaur o1 urey Jfaer JHT & 3feef & THef e UEgd fhar U
Options :

1. % 21 ST 1948

2. % 27571949

3. ¢ 21 BRARY 1948

4. % 28 IdaX 1948

Question Number : 24 Question Id : 7532293666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which instrument does Ustad Bismillah Khan play?
Options :

1. # Tabla

2. % Mridangam

3. % Shehnai

4. ¥ Violin

Question Number : 24 Question Id : 7532293666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
ITe fofSredTe @M oI 91 aTey I Feiid A9
Options :

1. % ddcll

2. % HH

3. QRIS

4. % qrgfer

Question Number : 25 Question Id : 7532293667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was the king of Jagdishpur in 18577
Options :

1. # Raja Raja Chola

2. % Hemant Singn

3. % Nabhar Singh

4. ¥ Kunwar Singh

Question Number : 25 Question Id : 7532293667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1857 H SATEIRIGR & ST DI A2
Options :

1. % ST RIS A

2. % gHd ¥y

3. % AR RiE

4. v TR g

Question Number : 26 Question Id : 7532293668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which group of monuments are famous for their harmonious blend of architectural forms of northern and southern India?
Options :

1. ¥ Group of Monuments at Hampi

2. # Khajuraho Group of Monuments

3. # Group of Monuments at Mahabalipuram

4. ¥ Group of Monuments at Pattadakal

Question Number : 26 Question Id : 7532293668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafied & 9 &1 91 9IRS Tg, ST IR Sl YR &1 RITT Harsfl &1 areereayu! fHfsid el & g uikig 82

Options :

1. % g WIRD Iqg

2. % TORE! WRD Tg

3. % OEEdIqRE HRS 98

4, ¢ Udqhd HRD YHg

Question Number : 27 Question Id : 7532293669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Natyanjali Dance Festival is associated with which of the following states?
Options :

1. ¥ Tamil Nadu

2. % Karnataka

3. % Kerala

4. # Andra Pradesh

Question Number : 27 Question Id : 7532293669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teivifer T Aeid Fafefad § § fory Iog | Iefid 32

Options :



|. ¢ qfHeTg
2. % HlCH
3. % Hd

4. % 3Ty U

Question Number : 28 Question Id : 7532293670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Every object will remain at rest or in uniform motion in a straight line unless compelled to change its state by the action of an external force is the
Newton's:

Options :

1. ¥ First Law
2. # Second Law
3. % Third Law
4. % Fourth Law

Question Number : 28 Question Id : 7532293670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & T Teeft forg fram o a5 T {6 a1 § o U a9 U WRa 91 H FRRR 1 TaaH T TaH ARy H a9 e g1 o d dab s
SR DI A 9 SRITTT A 8?2
Options :

1. ¢ gyq g
2. % fgdia fAom
3. % gdrg g
4. % Ty oy

Question Number : 29 Question Id : 7532293671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Amino acids are largely found in:
Options :



1. % Carbohydrate
2. ¥ Protein
3. # Fat

4. % Vitamin

Question Number : 29 Question Id : 7532293671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y 3, ¥ TRIAT ¥ U7 I B
Options :

1. ® HEERSC

2. ¢ UIicH

3. % 94l

4. % fqerfeq

Question Number : 30 Question Id : 7532293672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did the Indian Independence Act receive the Royal Assent or approval?
Options :

1. #® June 3, 1947

2. % July 6, 1947

3. ¥ July 18, 1947

4. % July 20, 1947

Question Number : 30 Question Id : 7532293672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRR WA AT o) 216t Wiepld a1 srHIed od e ym
Options :

1. #® 3971947



2. % 6 AT 1947
3. ¢ 18 S[Ts 1947
4. % 20 JATs 1947

Question Number : 31 Question Id : 7532293673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per financial institution and their year of establishment which one of the following pair is INCORRECT?
Options :

1. ¥ NABARD - 1985

2. * SIDBI - 1990

3. ¥ NHB - 1988

4, % LIC - 1956

Question Number : 31 Question Id : 7532293673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faiia TR 3R It WA a8 & SIUR, Fufafed & ¥ & a1 g 1ad 82
Options :

1. ¢ TS — 1985

2. % TYIMSSISISME — 1990

3. % TAUTE! - 1988

4. % TSI - 1956

Question Number : 32 Question Id : 7532293674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year the first industrial policy based on the mixed economy principle was declared in India?
Options :

1. ¥ 1948

2. %1950



3. % 1955
4. % 1960

Question Number : 32 Question Id : 7532293674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e # 9 fooq af # yRa # fAfa srefogee Rigid & STUR R ugdl shenfie if ot &1 78 ot
Options :

1. ¥ 1948

2. % 1950

3. % 1955

4. % 1960

Question Number : 33 Question Id : 7532293675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Diamond Field is associated with which of the following sport?
Options :

1. # Boxing

2. % Volleyball

3. #® Golf

4. ¥ Baseball

Question Number : 33 Question Id : 7532293675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o 7 3 frd ©d & HeH 3 SHS Bies ST U141 TS o7
Options :

1. ® Tadbamll

2. % gleflard

3. % T



4. 99dId

Question Number : 34 Question Id : 7532293676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Mim Kut festival is one of the important festivals of Mizoram and is celebrated during the months of August and September. It expresses
exhilaration and triumphant over the harvest of which crop?

Options :
1. # Rice
2. ¥ Maize
3. % Wheat

4. % Sugarcane

Question Number : 34 Question Id : 7532293676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 3R RIdeR HEH & SR HA/IT o4 arell fi $e (Mim Kut) AER fHSIRA & UG IR # ¥ U ¢ | I8 [69 Hud &t dels R
I 3R g &1 Ui 2

Options :
1. % d1dd
2. % Had]
3. % Tig

4. % T

Question Number : 35 Question Id : 7532293677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Taj Ul Masajid is situated in which of following states of India?
Options :

1. % Maharashtra

2. % Andra Pradesh

3. ¥ Madhya Pradesh



4. % Karnataka

Question Number : 35 Question Id : 7532293677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATol-3q Afee e & & v R woa & fRyd 89
Options :

1. ® HeRIY

2. % Y T

3. O eI

4. % HAICH

Question Number : 36 Question Id : 7532293678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following city, the Head Office of Small Industries Development Bank of India (SIDBI) is located?
Options :

1. # Patna

2. ¥ Mumbai

3. ¥ Lucknow

4. ¥ Hyderabad

Question Number : 36 Question Id : 7532293678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR oY IENT b &b (SIDBI) BT GATe -9 H ¥ fobdt wrex # Ry 82
Options :

1. # UcHl

2. % 4ag

3. ¥ TY1SH

4. % SIS




Question Number : 37 Question Id : 7532293679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who founded the All India Anna Dravida Munnetra Kazhagam (AIADMK) party?
Options :

1. ¥ M. G. Ramachandran

2. % ]. Jayalalithaa

3. % Janaki Ramachandran

4. ¥ M. Karunanidhi

Question Number : 37 Question Id : 7532293679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ifat ST o &fas Ta HoTH (SATEH®) UIe! & RITHT foaq &t ot
Options :

1. ¢ TH S, IHEeA

2. % . Sdferdr

3. % G IHAGH

4. % TH. HBUMAY

Question Number : 38 Question Id : 7532293680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following disease is mainly caused by Contaminated water?
Options :

1. # Leukemia

2. % Diarrhea

3. % AIDS

4. ® Goiter

Question Number : 38 Question Id : 7532293680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafifed o @ o9 F AR 7o =0 3 gfid ar & SR 82
Options :

1. % SoRaddl

2. ¥ X

3. % TSy

4. % TUGSHTT

Question Number : 39 Question Id : 7532293681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Indian state granted minority status to its Jewish community in 2018?
Options :

1. % Karnataka

2. % Delhi

3. ¥ Mabharashtra

4. ¥ Gujrat

Question Number : 39 Question Id : 7532293681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoied & 9 ford YR T5a 7 2018 H 307 TS UG B SHeUEeTd HI Goll fedr?
Options :

1. % PcH

2. ® UfH ST

3. % HERTY

4. % ToRId

Question Number : 40 Question Id : 7532293682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Manuel Fredericks, Kerala's only Olympic medalist belongs to which sports?
Options :

1. ¥ Hockey

2. % Archery

3. ¥ Table Tennis

4. % Wrestling

Question Number : 40 Question Id : 7532293682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B &b UHHH et Uadh faorar Agsid theRad &1 day Ry A 3 frg @a 9 g2
Options :

1. ¢ Gl

2. % dRarell

3. % ¢qd g

4. % Pl
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Group Number : 3

Group Id : 753229197
Group Maximum Duration : 0

Group Minimum Duration : 0
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Edit Attended Group? : No

Break time : 0

Group Marks : 20
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Arithmetic Ability

Section Id : 753229197
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229236
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7532293683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If 5452 = 2P X 29 X 47 , then find the value of p.
Options :

-

l.¥ <

Question Number : 41 Question Id : 7532293683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfd 5452 = 2P X 29 X 47 ©, Tl p BT HM J1d DITST|



Options :

-

1.¥ <

Question Number : 42 Question Id : 7532293684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of Y, if Y x 10 =25% of 80 + 127
Options :

I

1. % 3.

Question Number : 42 Question Id : 7532293684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G v x 10 = 80 BT 25% + 12 &, Tl 'Y D1 A J1d Hifod |

Options :

1. % 5.2



Question Number : 43 Question Id : 7532293685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The value of = — [2 + {2 +(2
40 5 4 6

Ll | =

Options :
1.¢ -1

I

Question Number : 43 Question Id : 7532293685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 i+ G-+l HT M B
40 5 T4 & 3 2 40

Options :

1.¢ -1



Question Number : 44 Question Id : 7532293686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The salary of Vinod was reduced by 15%. By what percentage should his reduced salary be raised so as to bring it at par
with his original salary?
Options :
g

15 =19
1. s 15

) % 17%

1520
3. % 17

4. 17

Question Number : 44 Question Id : 7532293686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faTie o1 e 15% B SR 881 71| 3Hdh &H gU aa- H fdha Wia=id &1 g ol Sl d1ie U difds 38! da-
3 Td - & RI6R gl o2

Options :




4.9 177

Question Number : 45 Question Id : 7532293687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What decimal of a kilogram is a gram?
Options :

1. ® 0.0001

5 % 0.0l
3 & 0.001

4 % 0.1

Question Number : 45 Question Id : 7532293687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U [HARIH &I U IH H daad U 9B ¥Hdd 49 31 8P

Options :




| % 0.0001
5, % 0.0l

3 v 0.001

Question Number : 46 Question Id : 7532293688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which number is 70% greater than 2507
Options :

1. ® 500

7« 425

Question Number : 46 Question Id : 7532293688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T UBAT 250 T 70% 234H g2

Options :
1. % 500

5 o 425



Question Number : 47 Question Id : 7532293689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average monthly income of a family of 5 earning members was Z1,065. One of the earning members died, and
therefore, the average income of the family came down to Z885. The income of the deceased was:

Question Number : 47 Question Id : 7532293689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ush URGR O FHH arel Yol 1 G 5 3, Bi AN A 31 71,065 41| HHM G0 el | I Ush &l Jg
g1 7S, 3R 3 916 YNGR BT 3fTHd 2419 HH I 2885 X8 115 | Hd Y& &I 31 fhal Al

Options :



Question Number : 48 Question Id : 7532293690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At what percentage above the cost price must an article be marked so as to gain 20% after allowing a customer a
discount of 4%?
Options :

| ® 20%

5 & 25%

Question Number : 48 Question Id : 7532293690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U %] 1 3ifdhd g 58P $d ged Y fova UTaIa 31 3181 F1feT fod A8 &l 4 0% 1 B¢ o & a1g ol
JUT 209 b1 d1H YT 812
Options :

% 20%



Question Number : 49 Question Id : 7532293691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Salaries of Ravi and Sumit are in the ratio 2 : 3. If the salary of each is increased by Rs. 5000, the new ratio becomes 40
: 57. What is Sumit's increased salary?

Options :
| % 52,500

5 % ¥57.500
3 » T47.500

4 % T42.500

Question Number : 49 Question Id : 7532293691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rfd 2R AT o 9 o1 30T 2: 3 8| U & da H 25000 B1 gla I UR, 7141 34T 40: 57 81 7191 & | GHd 61
a1 da fobe 82

Options :
| % £52,500

, % ¥57.500



3 v T47.500

4w T42.500

Question Number : 50 Question Id : 7532293692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Compound interest on a certain sum for 2 years at 10% per annum is ¥5.250. Find the SI on the same sum for triple
the time at the same rate per cent per annum.

Options :
| % Z18.000

, » 15,000
; % 217.000

4 % 16,000

Question Number : 50 Question Id : 7532293692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh IS SFRIRT TR 109 TN & F 2 a8 H HTWT B aTell Iehdie SATS 25250 81 38T eFRIRT UR, GHM aliidh
X ¥ fovT 1Y H U1 gIH dTe IR SATS 1d Hiforg |

Options :
| % Z18.000

, « 15,000



3 % 217.000

4 % 16,000

Question Number : 51 Question Id : 7532293693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the compound interest on 212,000 at 5% per annum for 2 years, compounded annually.
Options :

| % 1,020

5 % ZLI110
3 % %1200

4 v 31,230

Question Number : 51 Question Id : 7532293693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe, &S aIffe ©U Y I5afG BIaT 8, T 212,000 B SFRIRI TR 59% ) ATt & 9 2 T8 # Wi g1 a7al dshafa
7ol JTd HIfoT|

Options :

| % %1,020

5 % ZL110



3 % %1200

4 v 31,230

Question Number : 52 Question Id : 7532293694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the beginning. Rani works at a rate such that she can finish a piece of work in 32 hours, but she only works at this
rate for § hours. After that, she works at a rate such that she can do the remaining work in 12 hours. If Rani is to finish
this work at a stretch, then how many hours will she take to finish this work?

Options :
1. % 22 hours

> % 17 hours
3 « 20 hours

4 % 21 hours

Question Number : 52 Question Id : 7532293694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARYH, T ST X Y B Bl 8. T 98 Tt o1l BT 32 °9¢ H YA 6 GFbal 8, dfp 59 <X U 98 Had 8 °e
0% B0 B! © | 3D J1G, 98 39 &2 U B Bl ¢ 1o & U 98 Y SR B 12 b H JHI B Il gl afe
1 1 g S [T Srafafe o g 99 &A1 €, A 39 39 &1 &I GG B | o g iy

Options :

| % 2274¢




, % 179C
3 ¢ 200
4 % 219C

Question Number : 53 Question Id : 7532293695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person crosses a 1500 m long bridge in 6 minutes. What is his speed?
Options :

1 % 14 km/h

2 « 15 km'h
3 # 20km/h

4 % 18 km/h

Question Number : 53 Question Id : 7532293695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@lg A 1500 m A Gd Bl 6 BHe T UR &l 8| 39! =1e kvh T 310 BIOTY |

Options :
|, % 14 km/hr

5 « 15 km/hr



3 % 20 km/hr

4 % 18 km/hr

Question Number : 54 Question Id : 7532293696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of money is put on CI for 2 years at 10%. It would fetch 2723 more if the interest is payable half yearly than if it
were payable vearly. Find the approximate sum.

Options :
| % 213.0054.33

5 % 213,0454.33
3 ¥13,1305.33

4 = T13,1154.33

Question Number : 54 Question Id : 7532293696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uh YRIRI DI 2 TY o oTT Aehqiag STl Bl 10% Al &3 TR a2 foban Sirdl ¢ | 3fe =ars aiities ©U Y bl
g & F1oe, 3 g U Y TS S, TSI & ® U H 2723 3% U gid | A= &1 18 «rRifSy e
3 HifT |

Options :
| % Z£13.0054.33




5 % ¥13,0454.33
3w %13,1305.33

4 % 313,1154.33

Question Number : 55 Question Id : 7532293697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Study the following pie chart carefully and answer the questions given.
The pie chart given here represents the various primary sectors contribution to the GDP for the vear 2019-20.
Total amount contributed = 72000 Crore

Field Crops

14% Fruit &

Vegetable
Crops

Nursery Crop 5%

i

Livestock &
Miscellaneous
28%
Livestock
Products
45%

By how much value does the amount contributed by Aquaculture sector exceeds that of Fruit and Vegetable Crop
sector? (in crore)

Options :
1. % 1250

5 % 1200



3 % 1520

4 & 1440

Question Number : 55 Question Id : 7532293697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{9 913 91¢ &1 AFMYdD HET Hifod AR IGd AR TR ST T U BT 3R G|
gt fean 7 urg arc ay 2019-20 % AT Ghd 93¢ 3cd1E | AR Wifiie &3 & areH & axifdi gl

IRTGH 1 T3 e AR = 72000 BAS

Wd e
EEIERCaT] 14%

7%
A9 wEo
1%

el Ud Heall ahl welel
5%

gt Tg fafder
28%

9 3cd1e
45%

Gl?ﬂ'qﬁ 2E} (Aquaculture sector) IRl qRTGH, Tl uqd el Had &F (Fruit and Vegetable Crop sector) GARIIHE|
9 fooar 21 g2 (BRIS H)

Options :

| % 1250



> % 1200
3 ® 1520

4 @ 1440

Question Number : 56 Question Id : 7532293698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Study the following table and answer the questions based on it.
The table shows the marks obtained by the students of a class in a unit test.

Marks 10 20 30 40 50
No. of 5 6 3 7 4
Students

Find the median for the given table.
Options :
1. % 20

> # 10

3.+ 30

4 % 40

Question Number : 56 Question Id : 7532293698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



79 a1fcrent 1 210 ST 2R U6 21UR IR U 0 Uyl & I S|
g TIfeieh], T GJ-Ic X (unit test) H Teh H&f o S1AT GRI A febi Bl Gl 8|
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JURIad dlfcidh] & AT JTd HIfTg |

Options :
1 ® 20

> # 10
3.¢ 30
4 % 40

Question Number : 57 Question Id : 7532293699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Following is a Histogram, depicting average monthly salaries/ pension/ interest amounts (in thousands of Rupees)
being earned by a group ( 20 vears or more) of the residents of a colony:

5.0

4.0-

247

Frequency

o=
20 30 40 50 e0 7O 80 S0 100

Age
Identify the group having no monthly income
Options :
|« 80-90

5 % 90-100
3 % 70-80

4 % 50-60

Question Number : 57 Question Id : 7532293699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



7 TeReRIT U SMariTg SidHT & U WHE (20 Y AT ) GRT 3ffoid (6T S aTel H16d Wi a1/
TS | SRIRA (@RI <. 1) uiar g |

504

20 30 40 50 60 70 60 90 100

g @)
3T TR DI IgaH & [od! dbig AN e el ¢

Options :
1.« 80-90

5 % 90- 100
3. % 70-80

4 % 50-60

Question Number : 58 Question Id : 7532293700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Study the following bar graph and answer the questions based on it.

Earnings from User Fee at Toll Plazasin India (in ¥ Crore)

B Rarvwin COli 8 ion B Revennan Shared from BOT Projects
(18]

BT
T
P
) .Il
8

2013-14 201415 201516 2016-17

What is the average revenue collection for the years 2013-14 and 2014-15? (in Rupees crore)
Options :
L% 4298
7 « 3813
3 % 3452
4 % 4231

Question Number : 58 Question Id : 7532293700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



9 IR UTh P 24094 I 3R 39 IR MY U4 HI IR Sifod |

URE H 19 WTe | JUGHT $di Y[eh & © 0§ U o1 (FS ¢ 1)
oo * IToed HUE -an‘ru&ﬁwﬁmmm
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2013-14 1014-15 2015-16 2016-17

L]

Ty 2013-14 3R TY 2014-15 & [oTU AORG TYE (revenve collection) BT THT J1A B I1o18? (HS T9Y H)

Options :
| % 4,298

, o 3813
3 % 3452

4 x 4231

Question Number : 59 Question Id : 7532293701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the area of a square garden whose perimeter is 4800 metres.
Options :

1.« L.44 km?
) ® 1.22 km?
3 % 1.69 km?

4. % 1.25 km?

Question Number : 59 Question Id : 7532293701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U bR ¥ T TRATT 4800 m & | §¥E BT &% J1d HIoT|

Options :
1.« L.44 km?

) ® 1.22 km?
3 % 1.69 km?

4. % 1.25 km?

Question Number : 60 Question Id : 7532293702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The length, width and height of a cuboid are in the ratio 4 : 7 : 5 and its width is 21 cm. What is the volume of this
cuboid?
Options :

| % 3690 cm?
» « 3780 cm?

3 % 3960 cm?

4 % 3600 cm?

Question Number : 60 Question Id : 7532293702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U OITH @ Tallg, AISTs AR $Hdlg Bl U 4: 7: 58 AR SHBI IS5 21 cm 81 39 G1H BT HGIA J1A
DI

Options :
| % 3690 cm3
, v 3780 cm?

3 # 3960 cm?

4 % 3600 cm3
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Question Number : 61 Question Id : 7532293703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the incorrect option.

He succeeded although his success was not expecting.

Options :
1. * succeeded
2. % although



3. #* was not

4. ¥ expecting

Question Number : 61 Question Id : 7532293703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the incorrect option.

He succeeded although his success was not expecting.

Options :

1. # succeeded
2. % although
3. # was not

4. ¥ expecting

Question Number : 62 Question Id : 7532293704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the incorrect option.

The Mayor, with his counsellors, are to be present in the court.
Options :

1. ¥ Mayor

2. # with his

3.9 are

4. ® be present

Question Number : 62 Question Id : 7532293704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the incorrect option.

The Mayor, with his counsellors, are to be present in the court.



Options :

1. % Mayor

2. # with his
3. ¥ are

4. ¥ be present

Question Number : 63 Question Id : 7532293705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the incorrect spelling from the options given below:
Options :

1. ¥ obvious

2. % calendar

3. ¥ prowoke

4. ® mystery

Question Number : 63 Question Id : 7532293705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the incorrect spelling from the options given below:
Options :

1. # obvious

2. # calendar

3. ¥ prowoke

4. % mystery

Question Number : 64 Question Id : 7532293706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate one-word substitution for the given group of words.

The appearance of a particular disease in a large number of people at the same time



Options :

1. # Malady
2. # infection
3. ¥ Epidemic

4. % Contamination

Question Number : 64 Question Id : 7532293706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate one-word substitution for the given group of words.

The appearance of a particular disease in a large number of people at the same time
Options :

1. # Malady

2. # infection

3. % Epidemic

4. % Contamination

Question Number : 65 Question Id : 7532293707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the dialogue and then select the most appropriate idiom connected with the communication problem.

Danny: So, area-wise the down-matching sales profit commitment would seem to be high-staked on double-par.
Regan: Eh? Could you say that again? You’ve got me there.

It seems that Regan can’t make of what Danny is saying.
Options :

1. ¥ head or tail

2. % up or down

3. % right or left

4. % truth or false



Question Number : 65 Question Id : 7532293707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the dialogue and then select the most appropriate idiom connected with the communication problem.

Danny: So, area-wise the down-matching sales profit commitment would seem to be high-staked on double-par.
Regan: Eh? Could you say that again? You’ve got me there.

It seems that Regan can’t make of what Danny is saying.
Options :

1. ¥ head or tail

2. % up or down

3. * right or left

4. % truth or false

Question Number : 66 Question Id : 7532293708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the correct idiom from the options given below to express how you would probably feel if:

you were told you had just won a vast sum of money.
Options :

1. # shaking in your boots.

2. ¥ over the moon.

3. % up in arms

4. # down in the dumps

Question Number : 66 Question Id : 7532293708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the correct idiom from the options given below to express how you would probably feel if:

you were told you had just won a vast sum of money.
Options :



1. # shaking in your boots.
2. % over the moon.
3. % up in arms

4. # down in the dumps

Question Number : 67 Question Id : 7532293709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the option with the correct spelling.
Options :

1. ¥ Matriculation

2. # Metricullation

3. # Maetriculation

4. % Matricullation

Question Number : 67 Question Id : 7532293709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the option with the correct spelling.
Options :

1. % Matriculation

2. # Metricullation

3. % Maetriculation

4. % Matricullation

Question Number : 68 Question Id : 7532293710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank by choosing the most appropriate option:

The of buffaloes wallowed in the shallow river.
Options :



1. # nest
2. # flock
3. # pride
4. ¥ herd

Question Number : 68 Question Id : 7532293710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank by choosing the most appropriate option:

The of buffaloes wallowed in the shallow river.
Options :
1. # nest
2. % flock
3. % pride
4. ¥ herd

Question Number : 69 Question Id : 7532293711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the best option which can be substituted for the given expression.

An inner sense of right or wrong
Options :

1. ¥ Conscience

2. % precision

3. # Consciousness

4. % Conciseness

Question Number : 69 Question Id : 7532293711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the best option which can be substituted for the given expression.



An inner sense of right or wrong
Options :

1. ¥ Conscience

2. % precision

3. # Consciousness

4. % Conciseness

Question Number : 70 Question Id : 7532293712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose an appropriate form of the word to fill in the given blank.

Since he could not finish his project on time, he appealed for an of one more day.
Options :

1. # extending

2. # extent

3. ¥ extension

4. % extensive

Question Number : 70 Question Id : 7532293712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose an appropriate form of the word to fill in the given blank.

Since he could not finish his project on time, he appealed for an of one more day.
Options :

1. # extending

2. # extent

3. % extension

4, % extensive

Question Number : 71 Question Id : 7532293713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Choose the opposite of the given word. br>
Detested

Options :

1. # Abhorred
2. % Loathed
3. % Adored

4, % agbominated

Question Number : 71 Question Id : 7532293713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the opposite of the given word. br>
Detested

Options :

1. # Abhorred
2. % Loathed
3. % Adored

4, % agbominated

Question Number : 72 Question Id : 7532293714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word from the options that is closest in meaning to the given word.

Menace
Options :

1. ¥ Threat
2. ® Comfort
3. # Safety
4. % delight



Question Number : 72 Question Id : 7532293714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word from the options that is closest in meaning to the given word.

Menace
Options :

1. ¥ Threat
2. % Comfort
3. % Safety
4. % delight

Question Number : 73 Question Id : 7532293715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct alternative to the underlined part, which may improve the sentence. If no improvement is required, select ‘No improvement’.

The source materials that are used for a study constitute the bibliography.

Options :
1. ®* isused
2. ® was used

3. # have used

4. ¥ No improvement

Question Number : 73 Question Id : 7532293715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct alternative to the underlined part, which may improve the sentence. If no improvement is required, select ‘No improvement’.

The source materials that are used for a study constitute the bibliography.

Options :
1. # isused

2. * was used



3. ®* have used

4. ¥ No improvement

Question Number : 74 Question Id : 7532293716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given parts of sentences in a logical sequence, to form a meaningful sentence.

A. that he studies history

B. because it helps him to know the past
C. and to understand the present

D. a historian explains

Options :

1. ¥ DABC
2. % BCAD
3. ¥ DBAC
4. % BADC

Question Number : 74 Question Id : 7532293716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given parts of sentences in a logical sequence, to form a meaningful sentence.

A. that he studies history

B. because it helps him to know the past
C. and to understand the present

D. a historian explains

Options :

1. ¥ DABC
2. % BCAD
3. ¥ DBAC
4. % BADC

Question Number : 75 Question Id : 7532293717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Arrange the given parts of sentences in a logical sequence, to form a meaningful sentence.

A. that is why they are poor and backward

B. in developing countries is low and

C. when compared to developed and progressive nations
D. the percentage of people having basic education

Options :

1. ¥ BDCA
2. ¥ CDBA
3. % BACD
4. % ADCB

Question Number : 75 Question Id : 7532293717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given parts of sentences in a logical sequence, to form a meaningful sentence.

A. that is why they are poor and backward

B. in developing countries is low and

C. when compared to developed and progressive nations
D. the percentage of people having basic education

Options :

1. ¥ BDCA

2. ¥ CDBA

3. % BACD

4. % ADCB

Sub-Section Number : 2
Sub-Section Id : 753229238
Question Shuffling Allowed : Yes

Question Id : 7532293718 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No



Question Numbers : (76 to 80)
Read the given passage and answer the questions based on it.

Freedom was the strongest passion of Raja Ram Mohan Roy. He believed equally in the freedom of body and mind, i.e. freedom of action and
thought. He shunned all restrictions of race, religion and customs on human freedom.

Raja Ram Mohan Roy was the first champion of women's rights in India. He laid the foundations of the women's liberation movement in this
country. He revolted against the subjection of women to all kinds of unjust deprivations. According to Roy, the root cause of the all-round
deterioration of Hindu women was the complete denial of their property rights. The married Hindu woman was refused the right to share with her
sons, the property left by her deceased husband. The Hindu girl was not given the traditional right to share with her brothers, the property of her
deceased father.

In 1822, Roy wrote a book entitled "Brief Remarks Regarding Modern Encroachments on the Ancient Right of Females-According to Hindu Law
of Inheritance." He pointed out that the ancient Hindu law gave the mother the right to have an equal share with her sons in the property left by
her husband.

The daughter was allowed to have 1/4th share of the portion which a son could inherit in the property left by the father. Roy indicated how these
rights were gradually taken away by the modern lawgivers.

Roy explained that whatever inferiority seemed to be on the part of women was the result of keeping them away from the sources of knowledge
and opportunities for generations. There is only one God. None equals Him. He has no end. He is present in all living beings, male or female' -
this was his faith.

Sub questions

Question Number : 76 Question Id : 7532293719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What were the restrictions rejected by Raja Ram Mohan Roy?
Options :

1. # Restriction on belief in one God

2. % Restriction on daughters inheriting Y4 share in father’s property
3. ¥ Restriction of race, religion and customs on human freedom

4. % Restriction on following new trends of society.

Question Number : 77 Question Id : 7532293720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Why was Raja Ram Mohan known as the champion of women's rights in India?
Options :

1. % He enforced the Hindu law of succession in India.



2. ¥ He fought for women's liberation and rights.
3. ¥ He believed God resides in both men and women.

4. # He shunned the inheritance laws denying women a smaller share in property.

Question Number : 78 Question Id : 7532293721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the Ancient Hindu Law of Inheritance for women?

Options :

1. ¥ Mother was entitled to an equal share with her sons in the property left by her husband.
2. % Mothers had the right to share 1/4 of the property left by her husband.

3. % Daughters were completely denied the share in parental property.

4. % Widows had no share in the property of the deceased husband.

Question Number : 79 Question Id : 7532293722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What rights were the women deprived of?

Options :

1. # the opportunity to participate in social and cultural functions
2. ¥ access to the sources of knowledge

3. % the opportunity to develop any skill

4. % the right to choose their religion

Question Number : 80 Question Id : 7532293723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is NOT a part of Raja Ram Mohan’s faith in God?
Options :

1. # God is one.

2. ® None equals God.

3. ¥ God is ephemeral.

4. ® God is omnipresent.



Question Id : 7532293718 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the given passage and answer the questions based on it.

Freedom was the strongest passion of Raja Ram Mohan Roy. He believed equally in the freedom of body and mind, i.e. freedom of action and
thought. He shunned all restrictions of race, religion and customs on human freedom.

Raja Ram Mohan Roy was the first champion of women's rights in India. He laid the foundations of the women's liberation movement in this
country. He revolted against the subjection of women to all kinds of unjust deprivations. According to Roy, the root cause of the all-round
deterioration of Hindu women was the complete denial of their property rights. The married Hindu woman was refused the right to share with her
sons, the property left by her deceased husband. The Hindu girl was not given the traditional right to share with her brothers, the property of her
deceased father.

In 1822, Roy wrote a book entitled "Brief Remarks Regarding Modern Encroachments on the Ancient Right of Females-According to Hindu Law
of Inheritance." He pointed out that the ancient Hindu law gave the mother the right to have an equal share with her sons in the property left by
her husband.

The daughter was allowed to have 1/4th share of the portion which a son could inherit in the property left by the father. Roy indicated how these
rights were gradually taken away by the modern lawgivers.

Roy explained that whatever inferiority seemed to be on the part of women was the result of keeping them away from the sources of knowledge
and opportunities for generations. There is only one God. None equals Him. He has no end. He is present in all living beings, male or female' -
this was his faith.

Sub questions

Question Number : 76 Question Id : 7532293719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What were the restrictions rejected by Raja Ram Mohan Roy?
Options :

1. # Restriction on belief in one God

2. % Restriction on daughters inheriting Y4 share in father’s property
3. ¥ Restriction of race, religion and customs on human freedom

4. % Restriction on following new trends of society.

Question Number : 77 Question Id : 7532293720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Why was Raja Ram Mohan known as the champion of women's rights in India?
Options :

1. ® He enforced the Hindu law of succession in India.

2. ¥ He fought for women's liberation and rights.

3. # He believed God resides in both men and women.

4. ® He shunned the inheritance laws denying women a smaller share in property.

Question Number : 78 Question Id : 7532293721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the Ancient Hindu Law of Inheritance for women?

Options :

1. ¥ Mother was entitled to an equal share with her sons in the property left by her husband.
2. % Mothers had the right to share 1/4 of the property left by her husband.

3. # Daughters were completely denied the share in parental property.

4. ® Widows had no share in the property of the deceased husband.

Question Number : 79 Question Id : 7532293722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What rights were the women deprived of?

Options :

1. ® the opportunity to participate in social and cultural functions
2. ¥ access to the sources of knowledge

3. # the opportunity to develop any skill

4. % the right to choose their religion

Question Number : 80 Question Id : 7532293723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is NOT a part of Raja Ram Mohan’s faith in God?
Options :

1. # God is one.



2. % None equals God.
3. % God is ephemeral.

4. * God is omnipresent.
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Question Number : 81 Question Id : 7532293724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
‘Ul Ueg, %z

Options :

1. # IUIdTddh

2. % YH[AdIdh

3. % PUAHD

4. ¢ GeYarad

Question Number : 81 Question Id : 7532293724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“UASI TS B

Options :

1. % JUIdIddh

2. % YH[ddlddh

3. ® PUAHD

4. ¢ JIYdRIDH

Question Number : 82 Question Id : 7532293725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fgdl & G o ot T fobai 82
Options :

1. ¥ TURg

2. % Y

3. % Q%

4. % dRg

Question Number : 82 Question Id : 7532293725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e 3 T ) e T b 29
Options :

1. ¥ TYRg

2. % H

3.% &

4. % dRRg

Question Number : 83 Question Id : 7532293726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fep g HeTaR o1 31 feh it 1 ATl B WHHR BT &7
Options :

1. % HOI QT

Question Number : 83 Question Id : 7532293726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore TRTaR &7 37 ot Y AT Y WHR FRAT 82
Options :

1. # HJ AT

2. % qlg & T I

3. % Qg

4, & QIGTHMAT

Question Number : 84 Question Id : 7532293727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B[ 3R GarHT B! T 3y 8 areg § fPrar wsg 3-



Options :

1. ¢ UIddrad I3
2. ® S[Ifddrdd I3
3. % GUdTdd Il
4. % Hfgdardd A

Question Number : 84 Question Id : 7532293727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P 3R GaTH1 BT BT BN & T & forerar W 8-
Options :

1. ¢ YIgdTad Gl

2. % Wfdarde I3

3. % GoOdTEd T3l

4. % fcRIdTce Gl

Question Number : 85 Question Id : 7532293728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rierer T W forara Ugaral 8 1° 39 919 § $IF A1 Xeg b1 82
Options :

1. * fRierp

2. % 9

3. # fohdia

4. ¥ YedIdl

Question Number : 85 Question Id : 7532293728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e BT A fhdia ugarar g1° 39 a1e H i 91 Yec, fohaT 82
Options :




1. % e
2. % B

3. % foare
4. ¢ Ugdrdl

Question Number : 86 Question Id : 7532293729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 O fa deifad o1 s '3rdbe o= HIS T8 Bis oar &1 gamndf g2
Options :

1. ¢ 3ot dl et v a1 STefeh

2. % 3(HAT gadl Yl 7 A

3. % 3O SN H Y ST

4. % 3[UT U g8

Question Number : 86 Question Id : 7532293729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad 7 ¥ fg deifad o1 31 '3/ T=1 HIS T8 B Iopar &1 gamnff 82
Options :

1. ¢ 3{dbail dl dbet HI el oiddl

2. % 3(cbell T Hell = Ul

3. % 3OS SN H 31U ST

4. % 3UHT 3T TSI

Question Number : 87 Question Id : 7532293730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 3§ 3oy <eg YgATHU|
Options :

1. % IR




2. % 7
3. % T
4.9 R

Question Number : 87 Question Id : 7532293730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o T 30y e UgTHU|

Options :

1. % IR

2. % 4

3. % Tl

4. ¢ U

Question Number : 88 Question Id : 7532293731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B I Teg 3 WG HEA 62
Options :

1. ¢ S IR &f

2. % S TR gl

3. % Sff SRy o arel B

4. % S 9g3rdf gl

Question Number : 88 Question Id : 7532293731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P ¥ W 3T oG Hodld 67
Options :

1. ¢ S fApREH &

2. % S IUGH gl




3. % S ifAfEa s arar B
4. % S sgardf gl

Question Number : 89 Question Id : 7532293732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y TeE o YATg BT IG HITord-
Options :

1.« HIEH

2. ® HEgqdf

3. % U

4, % HHD

Question Number : 89 Question Id : 7532293732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Reg & U1 BT T HiTo-
Options :

1. ¢ 919y

2. % gegdf

3. %

4. % AHD

Question Number : 90 Question Id : 7532293733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faufdafeas  iRfoufdafRas @eddl
Options :

1. ¥ R[eq, Ug

2. % Uq, Ve

3. % QIS Veq



4. % Qog, PRSP

Question Number : 90 Question Id : 7532293733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foufaaifed®dr  SiRfoufeawfed®sl  Fea gl
Options :

1. ¥ Req, Ug

2. % Ugq, Ve

3. % g, Veq

4. % Qoq, PRH

Question Number : 91 Question Id : 7532293734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRY' VoG BT T e T 57
Options :

1. % Sfforegef

2. ¥ W

3. % JuwR

4. % B0

Question Number : 91 Question Id : 7532293734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRY' eg T AT e T 67
Options :

1. % faeasf

2. ¢ WY

3. % JuWEl

4, % &l




Question Number : 92 Question Id : 7532293735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o &1 wafgar 18 5

Options :

1. ® ggd}

2. % 9d]

3. Hd

4. % TIRTEH

Question Number : 92 Question Id : 7532293735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fir &1 yafareh T8 5

Options :

1. % g

2. % 941

3. HY

4. % TIRTGI

Question Number : 93 Question Id : 7532293736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 7 & B a1 fadim-gm gafea 82
Options :

1. ¢ SR

2. % UH-gX

3. % gyH-Aye

4. % g=ATG-fo=ATd



Question Number : 93 Question Id : 7532293736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o & ¥ i a1 fad-gm gafed 82
Options :

1. ¢ SR

2. % UH.GY

3. % gAY

4. % TEATd-foATd

Question Number : 94 Question Id : 7532293737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 & 9 o 91 faam-gm gafid T8 82
Options :

1. ¢ SAT-ATdT

2. % SffH-UYH

3. % HUS-3H]ol

4. % YATIA-YId

Question Number : 94 Question Id : 7532293737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 7 § B a1 e gafera Tt 82
Options :

1. ¢ SAT-ATAIT

2. % Jf<TH-yYH

3. % UG-

4. % JYATd-YId

Question Number : 95 Question Id : 7532293738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STH BT G Teg 7ET B
Options :

1. ¢ U

2. % fRTR

3. % A4l

4. % qgooldl

Question Number : 95 Question Id : 7532293738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STAT T FAHTf Weg T8 &:

Options :

1. ¢ Uit

2. % fIRWR

3. % 3{ddl

4. % Sgwordl

Sub-Section Number : 2

Sub-Section Id : 753229240
Question Shuffling Allowed : Yes

Question Id : 7532293739 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

g BT U YT & [ S0, S, A 3MT1S & BRI AT M Fg- B! IR BIdT § a1 THfG U o3l § | IRad H Sw57, Sdy, arH
3G o HRUT FHS F U1, Fcadr, SIATER, UATgHT Td 3RIifd B Uicie B g1 Ay & HRUT U Hd I 6 0] I Fdb] aars
STl 8 1 X S<3131 &1 S AT8] HRAT 8, feh IDT SSRIDHRU BT 8, T HRAT 7, I W {2 S 81 Tegew wxiog UTa-T 4 ORa
BId &, SATERI I URUM U $Rd &€ Td [:%ardf a1 31 gad gl & | fR-4R 9189 [de &1 HRd U Iad &1 Wad: T 8Id & | STE=if Bt
BT TR, TGN DI BISHR FeId TS UK HRAT TGS bl TMHT 81 &ell | Y Iooael HId™ & fefT o1 o1 R Ugd R §UHE I
3G I 3fidl F Sfigra 8! B ad | AfS Y TeTafd, U 37aT Tl YT BT § ol i Td $581 B i & 1oTE o] Ugd WIUSR &




oY ATa A Y a1 & FIT, SR Y el & RIU| I8 & Swu1ell 1 SSRIBRUT | WY BT ooy ¢ b 3ua 3R g0 & va & g
TG 33131 ¥ $HUR 36 ST |

Sub questions

Question Number : 96 Question Id : 7532293740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS & 3 96 i RS Wfdd & ©U H A5 T F DIF A1 7@ THRIAD 9 U B Hdl 52
Options :

1. % g1

2. % AN

3. % @Y

4. ¥ WRIUBR BT HIGT

Question Number : 97 Question Id : 7532293741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oG B Q B 91 T T sl BT 07 T 82

Options :

1. % SHxiog HIa-T 4 URd

2. % 3T T IRUT YT H T
3. ¢ Afaaid 331 ¥ Idferd

4. % 9.5 Td WUBRY

Question Number : 98 Question Id : 7532293742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

sl & fere =i -

Options :

1. ¢ 3G R I

2. % HgIa TR ¥ forfad|

3. % 3G B HIAd W I UG &I U |



4, % foft @y & fore &rd A

Question Number : 99 Question Id : 7532293743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I TR & o Sugad =five &1 g

Options :

1. ¢ ZI137 DT IRHRUT
2. ¥ JGEY & WY

3. % BTG WUBR

4. % FB137 BT GHA

Question Number : 100 Question Id : 7532293744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TI13 B ISRITBUN Y TRIP BT T AT 82

Options :

1. % ZTB13M1 I GUI B o [o1T SfIfard ATEH! DI S|
2. % B3] DT A HAT

3. 351311 B AfGdTd ¥ WRigd H uRafdd & Tl

4. % 55137 B e & TqreH H gRkafdd & 1

Question Id : 7532293739 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

g Hg1 TP Yd ¢ [ ST, SRIA, Y TS & BRI AT S Fg- DI URd BIdT & 7T THfS Ut Sl ¢ | IRad H 31, 3RidI, ary
3G & HRUT THS F 0T, Fcadr, SIATER, YATgHT Td 3RIifd 1 Uicie- B 81 Ay & HRUT U Hd T 6 A0 S| Fab] aars
STt 81 8 Zw51371 &1 gHA gl BRI 5, Ffeth ST ISRIBRU] BT 7, TH BT 7, I W A= 7t 3 | Uey Sied i § ofkd
BId ©, MG 4 URUM U HRdl & Ud :3aref a1 3o1 gad &1 X Ht fR-fR W69 ga &1 Hrd gU SAfd DI Wad: U 81d 6 | SMeN Bt
BT IR, G DI BIGH I9d UG U HAT TGB! ! NHT 51 T | TGN Joodd YIS o forg FIor1 -1 B Ud HRdl gU He
3SR BT TGt T Siera T8l 811 <ol | TS TTeeh TTafd, & ST Tl U &l g df AfdaiTd 351 1 i & fole T8 U WRIUBR &




oY ATa A Y a1 & FIT, SR Y el & RIU| I8 & Swu1ell 1 SSRIBRUT | WY BT ooy ¢ b 3ua 3R g0 & va & g
TG 33131 ¥ $HUR 36 ST |

Sub questions

Question Number : 96 Question Id : 7532293740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS & 3 96 i RS Wfdd & ©U H A5 T F DIF A1 7@ THRIAD 9 U B Hdl 52
Options :

1. % g1

2. % AN

3. % @Y

4. ¥ WRIUBR BT HIGT

Question Number : 97 Question Id : 7532293741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oG B Q B 91 T T sl BT 07 T 82

Options :

1. % SHxiog HIa-T 4 URd

2. % 3T T IRUT YT H T
3. ¢ Afaaid 331 ¥ Idferd

4. % 9.5 Td WUBRY

Question Number : 98 Question Id : 7532293742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

sl & fere =i -

Options :

1. ¢ 3G R I

2. % HgIa TR ¥ forfad|

3. % 3G B HIAd W I UG &I U |



4, % foft @y & fore &rd A

Question Number : 99 Question Id : 7532293743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I TR & o Sugad =five &1 g
Options :

1. ¢ SB137 BT ST

2. & JXY P WY

3. % 1 T RIUDBR

4. % 3130 BT GHA

Question Number : 100 Question Id : 7532293744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TI13 B ISRITBUN Y TRIP BT T AT 82

Options :

1. % S313fl I guf o & foTe Srgfera Aredl ol o
2. % B3] DT A HAT

3. ¢ 131 I AfddTd § Rigd H ulkafdd &=

4. % 55137 B e & TqreH H gRkafdd & 1
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Group Id : 753229200
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Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7532293745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The economic policies pursued by the colonial government in India were concerned more with the and of the economic interests
of their home country than with the development of the Indian economy.

Options :

1. * protection, depression
2. ¥ protection, promotion
3. * conservation, sacrificing

4. * boycotting, promotion

Question Number : 101 Question Id : 7532293745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR B 3R IRBR gRT 3U-TS T3 31fdfes =ffaai, HRdTg srferaw & o &t ga1 & 39 ga <% & onfdfe fgai &/t
3R ¥ 3ffdeh Fafdrd of|

Options :




1. % &, vl
2. ¢ &, s
3. % TREMUT, §feraM
4. % 9igWHR, Ifa

Question Number : 102 Question Id : 7532293746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the context of India's , the year is known as the year of the Great Divide.
Options :

1. ¥ population growth, 1921

2. % population growth, 1951

3. # GDP growth, 1921

4. % GDP growth, 2001

Question Number : 102 Question Id : 7532293746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRAP! HeHA a8 FiIsfucH & av & U d THI S gl
Options :

1. ¢ S8R g, 1921

2. % SIS gfg, 1951

3. % SISt (GDP) fs, 1921

4. % SISl (GDP) i, 2001

Question Number : 103 Question Id : 7532293747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The clearly declared that the government will play a leading role in the process of industrialisation.
Options :
1. ¥ IPR-1956



2. ® IPR-1965
3. ¥ IPR-1968
4. % TPR-1980

Question Number : 103 Question Id : 7532293747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AWy EU I Ot fear fe ReR sieriieor &t ufssar # srroft yfiresT fAumeh
Options :

1. ¢ 3MEUIR (IPR)-1956

2. % 3IMSUIIMR (IPR)-1965

3. % 3MSUISIR (IPR)-1968

4. % 3ZYISMR (IPR)-1980

Question Number : 104 Question Id : 7532293748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which were the features of the Indian agriculture in 1950s?

(1) Low productivity

(i1) Disguised employment
(i11)Subsistence farming
(iv) Primitive technology

Options :

1. % Only (i) and (ii)

2. % Only (i), (ii) and (iii)
3. ® Only (i), (iii) and (iv)
4. ¥ (i), (ii), (iii) and (iv)

Question Number : 104 Question Id : 7532293748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1950 & G H YR HY b1 DIF-31 faRIwarg off?



(i) T Iargdar

(ii) =5

(iii) ie P

(iv) STGH Th-iid
Options :

1. ® FHad (i) 3R (ii)

2. % HId (i), (ii) 3R (iii)
3. % HId (ii), (iii) 3R (iv)
4. ¢ (i), (ii), (iii) 3R (iv)

Question Number : 105 Question Id : 7532293749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under which condition, profit maximisation is achieved?
Options :

1. ¥ Marginal revenue equals marginal cost

2. % Average fixed cost tends to zero

3. # Sales volume and price are maximised

4. % A firm is achieving economies of scale

Question Number : 105 Question Id : 7532293749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fufa & Ty sifeipaasru (profit maximisation) YTt foar ST %?
Options :

1. « HIHid I Wi AN & SRIsR Bl

2. % 3d fFod arTd

3. % f9h! &1 A6 SR $IHd DI G ad fbar T 8|

4. % DI BH T JSITRIT Y UTT Bl gl |




Question Number : 106 Question Id : 7532293750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A competitive firm might not have a supply curve, if:

Options :

1. # the average total cost is not greater than marginal cost

2. # total fixed cost is much larger than the average variable cost
3. # breakeven volume of sales has not yet been reached

4. ¥ the marginal cost is not greater than average variable cost

Question Number : 106 Question Id : 7532293750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH UiaanT %H ¥Mae MYfd ah M A HR UMe, afg |
Options :

1. % 3d $ AT YrHTd ArTd § 3ifere 7 81

2. % o 9d AT Sid URad! aTd o 9gd 31 gt

3. % foo! ot Yo TR &1 T it db 9 ugl g1

4. I AT ST aRkad anTd 9 Sifded T 8l

Question Number : 107 Question Id : 7532293751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
During conducting a survey for a product to be released in next six months, three representative consumers gave the following responses..

1. “I need this product.
2. “I want this product.
3. “In next two years, [ will definitely need this.”

Now, given these three responses, which of the three responses will be responsible for making the demand curve a flatter one than the others?
Options :

1. ¥ Consumer 1

2. ¥ Consumer 2



3. #* Consumer 3

4. # Cannot be told with this information only

Question Number : 107 Question Id : 7532293751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 8 WeIHI H SR} foh T S a1t ST & forQ Teb Fdaror & SR, i iy Susiiaanait 3 Faferfad fdfsany <

1. "3 39 IdTG & SMaTHAT g 1"
2. "J9 I8 Id1G AT
3. 3T g1 au H, 9 Ff3d U 9§ S9! Sra=adhdl grf |

3fd, €Y 18 39 oY ufafehanstt &, A # Q - ufafsean, 9 o o) 31 31 ga § TuTe A & o SaRar gl
Options :

1. % JOYI |

2. ¢ IUYIeKT 2

3. % JUYIHI 3

4. % Had ga-l a1 Y 8! a1 Gebdl

Question Number : 108 Question Id : 7532293752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Principal-Agent problem exists in public enterprises, because of:
Options :

1. # low monitoring cost

2. # effective legislative check

3. ¥ interest in power and perks

4. % guarantee of efficient output

Question Number : 108 Question Id : 7532293752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Traoi-e I | FRUd-Tele gaw & HRUT gl ol
Options :

1. % 87 3rgdi&n drTa

2. % guTdt faumdt S

3. « e 3R v H 3

4. % 3%y YROM & TR

Question Number : 109 Question Id : 7532293753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The basis and indicators of BCG matrix are

Options :

1. ¥ growth rate of industry and relative market share
2. # business strength and attractiveness of industry
3. % industry attractiveness and relative market share

4. # industry growth rate and business strength

Question Number : 109 Question Id : 7532293753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRfioh AT (BCG matrix) BT YR 3R Ybdd gl

Options :

1. ¢ I & gfG o SR A0 TOR BT HRNERY
2. % Iy I 3R I BT ATHYT

3. % JYNT MHYUT 3R FTUef TSR &1 UG
4. % I P fqBT o 3R gIITg g

Question Number : 110 Question Id : 7532293754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Under which category of consumer goods do products such as newspapers, soaps, umbrellas, candy bars and toothpaste fall?



Options :

1. # Shopping goods

2. # Specialty goods

3. % Convenience goods

4. ¥ Unsought goods

Question Number : 110 Question Id : 7532293754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR U, G, BT, $al 9R 3R ZUURE S Id1E SUH TR a3l &1 fohg J07 T o1Td g2
Options :

1. % GGR &1 A

2. % faRvar 9=

3. ¢ HfAursHS I

4, % Y IEE

Question Number : 111 Question Id : 7532293755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a major pricing objective in the process of setting price?
Options :

1. % Survival

2. % Maximum profit

3. ¥ Maximum market skimming

4. ¥ Increment in market price

Question Number : 111 Question Id : 7532293755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

geu FuiRor ot ufear & Faffed o @ S1H-91, T THe geu (R 3gea T8t 82

Options :



1. % Icoifad

2. % JfIHdH A

3. % HYHaH dNIR TY
4. ¢ §GIR 49§ g

Question Number : 112 Question Id : 7532293756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Henry Mintzberg classified the ten roles played by the manager in an organisation into three broad categories. Which of the following is NOT
one of the three categories?

Options :

1. # Interpersonal
2. # Informational
3. % Identical

4. % Decisional

Question Number : 112 Question Id : 7532293756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?ﬁggﬁﬁ@%ﬁﬁ%ﬁﬁ%ﬂéaﬂw&ﬁﬁﬁwmﬁmmlﬁqﬁr@aﬁﬁﬁmﬁr?ﬂqaﬁr@fﬁ
T eI 87

Options :

1. % Sfqdafadd

2. % dIHD

3. ¢ gagH

4. % FoioTdS

Question Number : 113 Question Id : 7532293757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following factors does NOT influence human resource planning?
Options :



1. # Outsourcing
2. % Labour market
3. ¥ Type and quality of intuitive information

4. ® Type and strategy of organisation

Question Number : 113 Question Id : 7532293757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafifad & ¥ SIF-91 SRS AT T AT B THIIT et a1 82
Options :

1. % 3MICHIRT

2. % JHENIR

3. ¢ ESTIHd YT BT UHR 3R oraeT
4. % GI&T BT UBHR 3R 0

Question Number : 114 Question Id : 7532293758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With respect to task analysis, which of the following sets of activities is essential?
Options :

1. # Job enhancement and job enrichment

2. # Job enrichment and job description

3. ¥ Job specification and job description

4. ® Job specification and job enhancement

Question Number : 114 Question Id : 7532293758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B faeyur & Feiy 7, foparebardl o1 Fafefed & 9§ $1-91 ¢ 31awas 82
Options :

1. % BT G SR B FadH




2. % BT Gae 3R B faarur
3. ¢ &1 fafdr ok e faarr
4. % Hrd fAEEH iR &1 ¥afs

Question Number : 115 Question Id : 7532293759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an objective of financial management?
Options :

1. # Control over use of funds

2. % Efficient allocation of funds

3. % Mobilisation of funds at an acceptable cost

4. ¥ Manipulating share price of the company

Question Number : 115 Question Id : 7532293759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prfifed & Q@ SH-91 fachia ude &1 e 3239 el 22
Options :

1. % fAfet o IuaT R (=0

2. % AT} 1 HRI e

3. % Wierd arTd W AR &1 AifdasoRHE

4. ¢ SO b IR G T gXBR Bl

Question Number : 116 Question Id : 7532293760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is true?

Options :

1. # Increased frequency of compounding reduces the effective rate of interest.

2. ¥ Effective interest rate is always more than or equal to the nominal interest rate.



3. % An annuity is a lump sum payment.

4. % According to Rule of 72, the period within which the amount will be doubled can be obtained by dividing 72 by the interest rate and adding
0.35 to the value arrived at.

Question Number : 116 Question Id : 7532293760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed § § SH-91 $yT T 82

Options :

1. % TGhdfg B Al gg- J THT SIS G HH &1 et 5 |

2. THTA! STl &R SHRIT Hidh e SITST &R A HTUH 1 3P RIER gl g |

3. % I, THHRT YT |

4. % 72 % O & SR, 98 A% foras HfiaR M1 SR g1 STt 39, &1l &R & 72 ¥ faHTioTd dvep SR UId g H 0.35 S8aR
T fop T off G B

Question Number : 117 Question Id : 7532293761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following factors, with other things remaining the same, will decrease the bond value?
Options :

1. # Increase in coupon rate

2. # Increase in maturity premium

3. # Increase in the term of the bond

4. ¥ Increase in the yield of the bond

Question Number : 117 Question Id : 7532293761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfafed O O food R 9, 3= IS & 0 X84 WR, §ie oI T ! e

Options :

1. % U R H gfe
2. % gRUdaar Mty & gfg




3. % g @ o A oty
4. v S8 B vRma A 9fE

Question Number : 118 Question Id : 7532293762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sitara Ltd had in its godown at the beginning of the month, 200 units of stock which it had purchased for X11 each. It purchased another 500 units
for 13 each and 300 units for X15 each. If 600 units were sold during the month and the organisation uses the FIFO method of inventory
valuation, what will be the cost of closing inventory?

Options :

1. ¥ 35,800
2. % 34,800
3. % 35,200
4. % %5280

Question Number : 118 Question Id : 7532293762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RdRT farfics o Uy wgia &1 Yo3M1d & 3D Mard T 200 IH11 BT Wb AT, o I U Dl 2 11 T WISl AT 394 213 D Dl &R
T 500 TUT 215 YAH B & F 300 IHISAT AR W | A TS & SR 600 IHISTT ST T3 3R AT Wb Hedidh+1 B FIFO UG &1
ST Rl g, Al 3ifcd i B ANTd o1 it

Options :

1. ¥ 35,800

2. % 34,800

3. % 35,200

4. % 35280

Question Number : 119 Question Id : 7532293763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shashank is investing in a partnership with Shashwat. Shashank contributes as part of his initial investment in the form of a machine worth
%2,40,000 and 45,000 cash. The entry that the partnership makes to record Shashank's initial contribution includes a:

Options :



1. # Credit Machine by %2,40,000

2. % Credit Shashank's Capital by 22,85,000
3. # Debit Shashank's Capital by 2,85,000
4. # Credit Cash by 345,000

Question Number : 119 Question Id : 7532293763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RTIh AMYT & AT TIGRT H % HR 8T 5 | A= 3T TRINS (a9 & 8 & =0 H 22,40,000 Jod 1 T AR 3R 245,000 7HG
& ¥ T GNTeH &dl g | b & YRS GiTeH & SHfIRad oy & fore Tt gR1 &1 718 ufaf® o 58 3 o1 <nfire g |2
Options :

1. % STHT TR Wl 22,40,000

2.  STHT =M DT Yol W 22,85,000

3. % 910 =M b1 Yot [T 22,85,000

4. % SHI IHG WAl 245,000

Question Number : 120 Question Id : 7532293764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Partnership firm, Tabata has 3 partners Ram, Sham and Ghansham. The balance of capitals of the partners is ¥20,00,000: X20,00,000: X10,00,000.
The profit-sharing ratio among the partners is 5:3:2. The firm underwent dissolution. All the assets of the business are sold and all the outside
liabilities have been paid. The business has earned a profit on realisation of ¥3,00,000. How should the profit be distributed among the 3
partners? (Give your answer in the sequence of Ram: Sham: Ghansham)

Options :

1. ¥ 1,50,000:90,000:60,000

2. % 1,00,000:1,00,000:1,00,000
3. % 1,20,000:1,20,000:60,000
4. % 60,000:1,20,000:1,20,000

Question Number : 120 Question Id : 7532293764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ 1,50,000:90,000:60,000

2. % 1,00,000:1,00,000:1,00,000

3. % 1,20,000:1,20,000:60,000

4. % 60,000:1,20,000:1,20,000
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Question Number : 121 Question Id : 7532293765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the correct meaning of down payment, as per hire purchase agreement?
Options :

1. # Cash price of goods at which the hire purchaser can purchase the goods for cash

2. % Price of the goods if full payment is to be done in cash

3. % Amount which is paid at the time of signing of agreement or delivery of goods

4. % Amount which bears to the net price the same proportion as the amount of hire purchase instalment

Question Number : 121 Question Id : 7532293765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R Wi HIR & TR, IGHTA YA (down payment) BT Tal 31 9 7 F SH-A1 82
Options :

1. % AT o1 98 e Hed o WR forrdr ordl e & e A1 Wi 9ahdi g |

2. % I R YA Fha T A1 81 Al J1d DT T |

3. ¢ T8 MR S HRR IR SWER T1 A D1 GYeTht & T YT SISt g |

4. % g AR S fbvran @iie fred @t i o 3rqurd # € FRiae geu o) Fefid &t B

Question Number : 122 Question Id : 7532293766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The final step in the development of any model is:
Options :

1. # obtaining input data

2. ¥ implementation of model

3. % golution of model



4. # feasibility test

Question Number : 122 Question Id : 7532293766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fordtt 1t I @ & faem # oifad aRUr 390 § $1F-91 §IT 62
Options :

1. % YT ST U Al

2. ¢ HISd B BRI

3. % HISA BT JATYH

4. % GG URI&ful

Question Number : 123 Question Id : 7532293767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The probable return from investment of share A is 0.20 and that of B is 0.30. If an investment is made in the ratio of 0.70 and 0.30, what is the
expected return?

Options :
1. ¥ 23%
2. % 24%
3. % 25%
4. % 27%

Question Number : 123 Question Id : 7532293767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR A & 921 ¥ FHTTId Tiawd 0.20 B 3R B &1 HIfad Ufdwa 0.30 €1 Tfe PIg Fa=10.70 3R 0.30 & 3JuTd H foodm S &, ot Sriférd
g &1 g

Options :

1. ¥ 23%

2. % 249

3. % 259%



4. % 27%

Question Number : 124 Question Id : 7532293768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Public relations is the management of between an organization and public.
Options :

1. # Persuasion

2. # Focus

3. % Communication

4. % Documents

Question Number : 124 Question Id : 7532293768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST fhell TS 3R ST & St CaRCHE R
Options :

1. ® fayrg

2. ® Tl

3. ¢ HUh

4. % STl

Question Number : 125 Question Id : 7532293769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Public Relations has conventionally used internal communication as a means of transmitting  messages down to the workforce.
Options :

1. ¥ Management

2. % Government

3. % Sub-ordinate

4. # Labour



Question Number : 125 Question Id : 7532293769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P e &l UGl 9 UgdH & i IRIRAT Sfiale TR &1 ST Tk 18 & 0 H fhar g
Options :

1. ¢ gaed

2. & RWPR

3. % TR

4. % ity

Question Number : 126 Question Id : 7532293770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Reputation Management is

Options :

1. # Your share price changes

2. % What you say and what others say about you
3. # Managing crisis communication

4. ® Corporate Social Activity

Question Number : 126 Question Id : 7532293770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & O ford ST Ui &1 S Wavd 87
Options :

1. % 3T R & JI DI Sl

2. ST SR B AR R B
3. % Yohe IR BT Yde

4. % PHIYRe FrHTRIE Tafafer




Question Number : 127 Question Id : 7532293771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
may not be considered as a challenge faced by public relations managers.
Options :
1. # Defining public relations
2. # The lack of a formally recognized managerial-level function for public relations within the organization
3. # The overlap and/or encroachment of other managerial functions on public relations

4. ¥ Organizational and social awareness of the value of public relations efforts to organizations

Question Number : 127 Question Id : 7532293771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 7 T f5g g &1 QAT SHAYS Teieeh! ! g1 BT USdl 82

Options :

1. % S9YS B URHINT BT

2. % TIEA & R THUS & fofe hu=niRes U T H-dl U U1 TR & ST Bt HHl g
3. % SIS TR 3 YSYUSHI BT o 3faReld R/AT ffshHur

4, IS H ST T & Jod & 9 H WeATHS 3R IS SRRl

Question Number : 128 Question Id : 7532293772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to PRSI code of ethics, each member must refrain from

Options :

1. # Not subordinating the truth to other requirements

2. % Not circulating information which is not based on established and ascertainable facts

3. # Not taking part in any venture or undertaking which is unethical or dishonest or capable of impairing human dignity and integrity

4. ¢ Using any “manipulative” methods or techniques designed to create subconscious motivations which the individual cannot control of his
own free will and so cannot be held accountable for the action taken on them

Question Number : 128 Question Id : 7532293772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

PRSI 3TER Hgdl & IR, Udd Gad S 9 4 9 foog fafafer o wfire =18 g =g

Options :

1. % fout oft fRufa & wafgr & foafera =t 8

2. % U I TRIRd B § F91 1 RO SR A3 qaf wR smenfka 7 81

3. % Tt U ot sfcres a1 Taa I a1 IUHH | AW g 1 ST off AT TRAT 3R SREST HI Ja Ugard ai

4, ¢ Ut it +ft TrdiRes fafd a1 a1 BT SUTRT x1 Sl foi! o o1 Jod o131l & (T R aTal! Sfadd- THUROMS &I
fifrd T8t B Tl § SR UMY I IR BT T3 HIRATS o [0 STURGHIT T8 SST S bl §

Question Number : 129 Question Id : 7532293773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It is generally argued by PR leaders that Public Relations should act as of any organization.
Options :

1. # Universal Communicator

2. ¥ Ethical Conscience

3. # Marketing Coordinator

4. % Categorical Imperative

Question Number : 129 Question Id : 7532293773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HR (PR) A dlsl gRT WHIRIG: T8 dd a1 9Ian § 6 o 5ud & fodft i Timead ges & U § &1 H-A1 91|
Options :

1. % ERP® GaR®

2. ¢ Afd® fadw

3. % fqUUH g9-aUsh

4. % fofarEs U T sifHard

Question Number : 130 Question Id : 7532293774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The Companies Act 2013 has introduced an additional clause on Corporate Social Responsibility obligations (CSR) for companies
listed in India.

Options :

1. ¥ Section 135
2. % Section 136
3. % Section 137
4. % Section 138

Question Number : 130 Question Id : 7532293774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST SMRIFEH 2013 T, YR © Ylag Huf-al o g HURe AMHToidh ITRaldd (CSR) P dl I Fard T sifalad TS
e g

Options :

1. ¥ YRT 135

2. % YRT 136

3. % YURT 137

4. % YRT 138

Question Number : 131 Question Id : 7532293775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RACE describes public relations as a four-step, continually-cycling process. The term stands for Research, Action, Communication and E. What
does ‘E’ stand for?

Options :

1. % Execution

2. % Exemption
3. % Evaluation
4. ® Exaggeration



Question Number : 131 Question Id : 7532293775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T (RACE), SUS &I IR 90l aTell, HiHew Ufohar & w0 § afofd T & | T8 UG Research (STHUM), Action (FTIATS),
Communication (H?IR') GﬁT EQ §A %I 'E' BT T 31 %‘?

Options :

1. % Execution (fhaT-aa)

2. # Exemption (¥C)

3. ¥ Evaluation (cdIh)
4. % Exaggeration (3fT=AIT)

Question Number : 132 Question Id : 7532293776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Hunt and Grunig (2004) is not a step in the strategic management of public relations.
Options :

1. ¥ Create advertising plan

2. % Implement campaigns

3. #® Develop objectives

4. ® Anticipate issues and manage organization’s response

Question Number : 132 Question Id : 7532293776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g2 U8 T (2004) & AR, , YD o UMHITAS YeeH H 3 aTal U 9R0l T8l /|
Options :

IR ACEICE R SEICEIE]

2. % I SHEIad BT

3. % 321y [AHRId ST
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Question Number : 133 Question Id : 7532293777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

was developed as a way of balancing a financial focus with other important organizational factors. It emphasizes three further key
dimensions for organizational success namely customer/stakeholder satisfaction, internal business process and organizational capacity.

Options :

1. ® Balanced Measure Card

2. % Balanced Scorecard

3. # Balanced organizational Card
4. ® Balanced Stakeholder Card

Question Number : 133 Question Id : 7532293777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pl 3 HEdqUl HEATHS Uch! o 1Y faxiia Bl & Aferd R & ahid & 0 | (A id (o dl 71 47| I8 6D
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Options :

|, % 90T AR IS

2. ¢ SoIRE WHRPIS

3. % JoIkS SR Bls

4. % JOIRS RHaIE Ils

Question Number : 134 Question Id : 7532293778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Political Environment is a vital part of the international business environment that includes _ aspect.
Options :

1. ¥ Government connection with the business fraternity

2. ® Media connection with the business fraternity

3. # Consumer connection with the business fraternity

4. ® Transport connection with the business fraternity



Question Number : 134 Question Id : 7532293778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSI aRAe, ARSI rawiie URdl o1 Teh Hegayul siiT g, forgd & ugq A gld 5
Options :

1. ¢ IR YR & 91y TWHR] Gay

2. % IUR G & 91y Hifear dey

3. % UR UG & Y SUHTad daY

4. % YR G & 1Y URag day

Question Number : 135 Question Id : 7532293779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is not included in International Business Environment.
Options :
1. # Cultural environment
2. % Technological environment
3. % Physical environment

4. ¥ Economic environment

Question Number : 135 Question Id : 7532293779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
, RIS R ufka=r o1 fowa 8T 5 |
Options :
1. % ORPpide gkaw
2. % TN uika=t
3. ¢ Aifas aRaw
4. % Y gRaw

Question Number : 136 Question Id : 7532293780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
is the most prominent official watchdog for the print media for protecting newspapers as well as news agencies.
Options :
1. ¥ PCI
2. # PRCI
3. # IPR
4, % PRSA

Question Number : 136 Question Id : 7532293780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 T § S A1 16 SREER] & ITY-H1Y THER TSRl &1 gReq g e fifsar & forw qa9 wige snfireiie uest @rash) g2
Options :

1. ¥ PCI

2. % PRCI

3. % PR

4. % PRSA

Question Number : 137 Question Id : 7532293781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Indian version of antitrust law is called
Options :

1. ¥ The Competition Act

2. ¥ Environment Act

3. % Consumer Act

4. ¥ Labor Act

Question Number : 137 Question Id : 7532293781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HfAYTT BT (antitrust law) B HRATT BT BT & AT Y ST ST B




Options :

1. « gfaaifrar sifafas
2. % yfauor fyfAm
3. % JuYar Sifafam
4. % gq SffAfTH

Question Number : 138 Question Id : 7532293782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“To provide for freedom to every citizen to secure access to information under the control of public authorities, consistent with public interest, in
order to promote openness, transparency and accountability in administration and in relation to matters connected therewith or incidental thereto”
is an Indian Act. The name of the Act is

Options :

1. # Freedom of speech and expression
2. % Freedom of Information

3. % Freedom of transparency

4. # Freedom of accountability

Question Number : 138 Question Id : 7532293782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"R o AU, IRERIAT 3R SWREIRIE &1 Semal o & g SR I IS a1 39 ATINRTS Ardl & day H, Jdoi-e ffd &
3T, Yrao = WIHRUN o 01 8 Yo b Ugd B YRI&d B3 & L T RS B WaAdl UG H3AT" g Uh YR
ST | 39 ST &7 | F1 82

Options :

1. % g 3R YA P Waadr

2. I B WA

3. % UReRIAr I Wdadl

4. ® IR Pl Wadadl

Question Number : 139 Question Id : 7532293783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Section 499 of the Indian Penal Code deals with
Options :

1. ¥ Defamation

2. % Contempt of Court

3. # Freedom of speech
4. % Right to Information

Question Number : 139 Question Id : 7532293783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR <8 Higdl 1 URT 499 T e g
Options :

1. ¢ AT

2. % YRITAY B SHTHAT

3. % 3ffYcTfcR] BT WAl

4. % I BT DR

Question Number : 140 Question Id : 7532293784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is the final value of the goods and services produced within the geographic boundaries of a country during a specified period of time,
normally a year.

Options :
1. ¥ GDP
2. % PDP
3. ¥ NDP
4. % KDP

Question Number : 140 Question Id : 7532293784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 7532293785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GDP can be measured by three methods namely- Income method, Expenditure method and

Options :

1. # Process method
2. # Product Method
3. ¥ Objective method
4. ¥ Output method

Question Number : 141 Question Id : 7532293785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GDP T AU i fafert @ fopar o wepa § - i fafty, = fafdy ofiR
Options :

1. % yfchar fafe

2. % Jde fafy

3. % 3ery [afY

4. ¢ 33cyc fafy

Question Number : 142 Question Id : 7532293786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
parameter related to foreign trading, may not be considered as a key parameter.
Options :
1. * Financial resources
2. # Raw material and manpower availability
3. ¥ OPEC pricing policy

4. ¥ Wages structures



Question Number : 142 Question Id : 7532293786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faeft coTuR @ Tefda g o 9 ford Huds &1 U U ATUCS o &0 H gl AT S Yhdl 82
Options :

1. % fo<itg d9reA

2. % T AT R YR B Sua/d

3. ¢ 31U (OPEC) o FuRRor fifa

4. % 9 AT

Question Number : 143 Question Id : 7532293787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is defined as use of statistical tools for assessing economic theories by empirically measuring relationship between economic variables.
Options :
1. % Trigonometrics
2. ¥ Econometrics
3. #¥ Volumetrics

4. % Parametrics

Question Number : 143 Question Id : 7532293787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % W(Trigonometrics)
2. ¢ dfffa (Econometrics)

3. % JMgaAffd (Volumetrics)
4, % W(Parametrics)




Question Number : 144 Question Id : 7532293788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
identifies and profiles and distinct groups who might prefer or require varying products and marketing mixes.
Options :
1. # Public Relations
2. ¥ Market Segmentation
3. # Branding

4. % Positioning

Question Number : 144 Question Id : 7532293788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
, fafira gl o1 ugaM 3R BTt R &, S S{ei-3eiT Iare! 3R fauur iyl &) adiadr ¢ wed § a1 3 39!
IS 81 bl g |
Options :
1. % S9US
2. ¢ SR fauTH
3. % qifeT
4. % OISR

Question Number : 145 Question Id : 7532293789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

____method/approach would be useful in determining why only a specific market segment is hesitant to buy a product.
Options :

1. ¥ Case study

2. % Textual Analysis

3. % Discourse Analysis

4. % Content Analysis

Question Number : 145 Question Id : 7532293789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¢ B TSl (Case study)
2. % Yfeqeh favayor (Textual Analysis)
3. % fifad fozayor (Discourse Analysis)
4. % g fawor (Content Analysis)

Question Number : 146 Question Id : 7532293790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process of selecting a subset of a population for a survey is known as
Options :

1. # Survey

2. # Representation

3. ® Triangulation

4. ¥ Sampling

Question Number : 146 Question Id : 7532293790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fop it qdefur o foIe SHeiReaT & SUaHd & 9 &1 Ufchal &l & TTH I ST ST |
Options :

1. % gdem (Survey)

2. % fa=uy (Representation)

3. % aﬂﬁﬂ (Triangulation)

4. ¢ Yfaag (Sampling)

Question Number : 147 Question Id : 7532293791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

WOM and viral marketing have strong influence on consumer behavior. Here WOM stands for
Options :

1. ¥ Word of Mouth

2. % Word of Manager

3. ¥ Word of Management

4. % Word of Mentor

Question Number : 147 Question Id : 7532293791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WOM 31R GRRE HIeh T T SUHIGT TdeR TR TR YHTT TSl & | T8T WOM &1 Ut =0 F1 3 |
Options :

1. ¥ Word of Mouth (?1|_6F 3 HI3Y)

2. % Word of Manager (_QTSC 3Hh ﬁﬁﬁ?‘)

3. ¥ Word of Management (aé 3H 'EI%ITTFE{?)

4. ¥ Word of Mentor (a‘s“ 3 ﬁ??)

Question Number : 148 Question Id : 7532293792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A researcher goes to a local mall and records how many people entered which shops and what their consumer behavior was. This researcher is
involved in a research method.

Options :

1. # Case study
2. ¥ Observation
3. % Survey

4. ¥ Experiment

Question Number : 148 Question Id : 7532293792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 149 Question Id : 7532293793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
may be considered as a disadvantage of sales force management.
Options :
1. ¥ Losing personal touch in the process of automation
2. # Identifying segments within a market
3. # Developing new products

4. ® Identifying the best customers in place

Question Number : 149 Question Id : 7532293793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ TAIEH Bt UichdT H SAfadTTd WU @il

2. % T TNIR o HIAR STUNT B Ugd= oAl

3. % U IAEl BT fdHRI B

4. % {3 M R FINY A6 B Tga Bl

Question Number : 150 Question Id : 7532293794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Service marketing refers to the application of a different set of tactics or strategies to anticipate  need for an intangible product.
Options :

1. % Supplier's

2. % Manager's

3. % Consumer’s

4. ¥ Employee's

Question Number : 150 Question Id : 7532293794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3yl

2. % YYD

3. ¢ JUHISHIT

4. % HHARI

Question Number : 151 Question Id : 7532293795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person needs to be physically present at the ‘salon’ to get a haircut. This type of service may fall into type.
Options :

1. % Product Processing Services

2. % People Processing Services

3. # Information Processing Services

4. ¥ Mental Stimulus Processing Services

Question Number : 151 Question Id : 7532293795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % JIATE TEWDHRUT Y14

2. ¢ S YIRHR0T ¥4

3. % I YD1 414

4. % OHRT®H YicTg- UHh 01 JaTg

Question Number : 152 Question Id : 7532293796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Various stages of the PLC are

Options :

1. ® Beginning, Maturity, Saturation, Decline

2. ® Introduction, Growth, Maturity, Saturation, Decline.
3. ¥ Introduction, Growth, Maturity. Decline

4. ® Introduction, Expansion, Maturity, Saturation.

Question Number : 152 Question Id : 7532293796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PLC & faftrs =Rur v 82

Options :

1. % B3Td, GRUehal, Tdiad, fRrae

2. # UR=y, gfg, uuear, ddfad, fRrae
3. ¥ U=, i, aRuedr, fRTae

4. % gR=Y, fowdR, gRuedr, Sqi

Question Number : 153 Question Id : 7532293797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Following a crowd instinct in advertising is called appeal.
Options :



1. # Fun people
2. # People crowd
3. % Bandwagon
4. ¥ Band people

Question Number : 153 Question Id : 7532293797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fagTo uferar & 1S &t Ugf BT SIRRUT BT 3 & A ¥ ST STl g |
Options :

1. % B Uiud (Fun people)

2. % 4iud H138 (People crowd)

3. ¢ d8aTH (Bandwagon)

4. % dg diud (Band people)

Question Number : 154 Question Id : 7532293798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a pricing method in which consumers within one zone are charged one price.
Options :
1. % Territory Pricing
2. % Zone pricing
3. ® Geographic pricing
4. % Segmented pricing

Question Number : 154 Question Id : 7532293798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % &3 geg fAyiRor




2. ¢ S e Ay
3. % Iifore geg Ao
4. % YT geg AyiRor

Question Number : 155 Question Id : 7532293799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
describes propagandistic public relations that seeks media attention in almost any way possible.
Options :
1. % Propaganda
2. % Public Opinion
3. ¥ Press Agentry

4. % Public Information

Question Number : 155 Question Id : 7532293799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % YOI
2. % ST DI
3. ¢ U Toldt

4. % Fdoii-en I

Question Number : 156 Question Id : 7532293800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The celebrity/ expert talking about the smart or positive features is called .
Options :

1. ¥ Testimony

2. % Alimony



3. % Solomony

4. ¥ Anatomy

Question Number : 156 Question Id : 7532293800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ TKIEHT (Testimony)

2. % TAHH! (Alimony)

3. % W(Solomony)

4, % q:lm:ﬁ(Anatomy)

Question Number : 157 Question Id : 7532293801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When consumers are fixated to the celebrity and tend to neglect the brand being advertised, then this phenomenon is called
Options :

1. % Neglect effect

2. % Vampire effect

3. # Covering up effect

4. % Celebrity focus effect

Question Number : 157 Question Id : 7532293801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % JUETUHIG (Neglect effect)

2. JER YT (Vampire effect)



3. % HalT Y JHId (Covering up effect)
4. % JfAfact Bivy gHTd (Celebrity focus effect)

Question Number : 158 Question Id : 7532293802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To increase the audience of a site, using online and offline promotion techniques is known as
Options :

1. # Search Engine Optimization

2. # Search Engine Marketing

3. % Online searching

4. ¥ Traffic Building Campaign

Question Number : 158 Question Id : 7532293802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S{TATS 3R SHTHATS TR AH-ND| BT STIHTA HRd gU [hd! WIZE TR GR! B T T T Heardl 62
Options :

1. % I g MDA

2. % T o AB ST

3. % 3T gfi
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Question Number : 159 Question Id : 7532293803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Activities you undertake on your website, such as maintaining a certain keyword density, or on other websites, such as link building, with the
intention of ranking higher on search engine results pages, is called

Options :
1. # SEM
2. ¥ SEO
3. % PPC



4. % PPO

Question Number : 159 Question Id : 7532293803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¥ SEM
2. ¥ SEO
3. % PPC
4. % PPO

Question Number : 160 Question Id : 7532293804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
CRM stands for

Options :

1. ¥ Customer Relationship Management
2. ® Consumer Relationship Management
3. % Customer Retail Management

4. % Consumer Retail Management

Question Number : 160 Question Id : 7532293804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CRM &1 01 0 347 87

Options :

1. ¥ Customer Relationship Management (hXCHI EEEEIEW flﬁaﬁ‘c’)
2. # Consumer Relationship Management (W:R Ra=mRm ﬁelﬁﬁ_cr)
3. # Customer Retail Management (PICHR fea ﬁeﬁ‘lﬁa



4. ® Consumer Retail Management (hogH Cd W)
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Question Number : 161 Question Id : 7532293805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # Inventory management

2. ¥ Brand management

3. % Offline and online storefronts

4. ¥ Warehouse operations

Question Number : 161 Question Id : 7532293805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 162 Question Id : 7532293806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The primary purpose of any channel of distribution is to bridge the gap between the producer of a product and its
Options :

1. % Supplier

2. % Shareholder

3. ¥ User

4. % Competitor

Question Number : 162 Question Id : 7532293806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. ® 3MYfddal
2. % YRYRSD
3. ¢ JUANTHA!
4. % giartt

Question Number : 163 Question Id : 7532293807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

describes a wide variety of marketing arrangements by which the manufacturer or wholesalers use more than one channel
simultaneously to reach the end user.

Options :

1. ¥ Dual distribution
2. % Direct Selling

3. # Indirect Selling

4. # Intermediary selling

Question Number : 163 Question Id : 7532293807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¢ I fadRUT (Dual distribution)
2. % Y& faehl (Direct Selling)
3. % 3(YTE fahl (Indirect Selling)
4. % A1AU® fohl (Intermediary selling)

Question Number : 164 Question Id : 7532293808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Recycling containers is an example of type of marketing channel.
Options :



1. # Dual distribution

2. % Direct Selling

3. ¥ Reverse Channel

4. # Intermediary selling

Question Number : 164 Question Id : 7532293808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % GIgxT fddRUT (Dual distribution)

2. % UE fah! (Direct Selling)

3. ¢ g o=@ (Reverse Channel)

4. % OIS fohl (Intermediary selling)

Question Number : 165 Question Id : 7532293809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The success of marketing communication depends upon the extent to which messages engage their audiences. Such audiences are categorized
into three groups. They are

Options :

1. #® Customers, government, and sales personnel.

2. ¥ Customers, channel members, and general stakeholders.
3. # Customers, government, and club members.

4. ® Customers, club members, and general stakeholders.

Question Number : 165 Question Id : 7532293809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % Ygh, PR 3R fagg HHf

2. gD, ITd & Y& 3R A feduRe
3. % YgPh, WPR 3R I P I

4. % YgdH, I b Yo 3R I fFauR®

Question Number : 166 Question Id : 7532293810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is the type of interpersonal communication about products or services where a receiver regards the communicator as impartial and is
not attempting to sell products or services.

Options :

1. # Personal Selling
2. % Direct Marketing
3. ¥ Word of Mouth

4. ® Tele-marketing

Question Number : 166 Question Id : 7532293810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % faaTd fasht (Personal Selling)
2. % Y& fdUUM (Direct Marketing)
3. ¢ AP TAR (Word of Mouth)
4. % THATH ST (Tele-marketing)

Question Number : 167 Question Id : 7532293811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A is a signal or message embedded in another object, designed to pass below the normal limits of perception.
Options :



1. # Surrogate message
2. ¥ Subliminal message
3. # Supraliminal message

4. # Superlative message

Question Number : 167 Question Id : 7532293811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % RIFIH Y (Surrogate message)
2. ¢ 3{dddd Y4 (Subliminal message)
3. # SR TR (Supraliminal message)
4, ® 3‘@% BSEE (Superlative message)

Question Number : 168 Question Id : 7532293812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The first step towards managing integrated marketing communication is

Options :

1. ® Design your message

2. % Identify channels of communication
3. % Allocate resources

4. ¥ To identify the target market

Question Number : 168 Question Id : 7532293812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % U Yo FEITS Bl




2. % ORI Dt U bl
3. % ITeAl BT e BT
4. QT IR DI UgaT Bl

Question Number : 169 Question Id : 7532293813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is the communication model that depicts information flowing via various media channels, to particular types of people to whom other
members of the audience refer for information and guidance.

Options :

1. # One Step
2. ¥ Two Step
3. % Three Step
4. % Multi Step

Question Number : 169 Question Id : 7532293813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. # Udh-dRUT (One Step)
2. ¢ QIR (Two Step)
3. % -0 (Three Step)
4. % dg-dR0T (Multi Step)

Question Number : 170 Question Id : 7532293814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is an appropriate term from systems theory for a set of interdependent parts.
Options :

1. % Environment



2. # Structure
3. % Ecology
4. ¥ System

Question Number : 170 Question Id : 7532293814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gRawr (Environment)

2. % YIGAT (Structure)

3. % tIﬁ'f:\ﬁalﬁ‘lﬁ(Ecology)

4. ¢ JUITQA (System)

Question Number : 171 Question Id : 7532293815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"Do you like X brand toothpaste of DCP company? If yes, then proceed with the next question” is considered as  type of question.
Options :

1. % Double-barreled

2. % Feeling thermometer

3. % Leading

4. ¥ Filter

Question Number : 171 Question Id : 7532293815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ST IR (Double-barreled)

2. % eI YR (Feeling thermometer)



3. % ?ﬂ%‘T(Leading)
4. ¢ e (Filter)

Question Number : 172 Question Id : 7532293816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If you were conducting a telephonic survey and choosing names (samples) from the telephone directory, the book will be considered as your

Options :

1. # Population

2. % Sample frame
3. # Variable

4. % Hypothesis

Question Number : 172 Question Id : 7532293816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % SIHS

2. ¢ Hud A

3. % =R

4. % OR&BUT

Question Number : 173 Question Id : 7532293817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ASCI stands for .

Options :

1. ¥ Advertising Standards Council of India

2. % Advertising Standards Corporation of India



3. # Agencies Standards Council of India
4. # Advertising Setup Council of India

Question Number : 173 Question Id : 7532293817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ASCI &1 JUf &1 FI1 g2
Options :

1. ¥ Advertising Standards Council of India (an?fgﬁﬂ'[ WSS HEIRT 3TH E-%H'D

2. ® Advertising Standards Corporation of India (Q?:aa‘g%iﬂ WSS BN 3HTH ‘s"%m)
3. #® Agencies Standards Council of India (Q@?ﬂa LSS HISRIA 3iTh g%m)

4. ® Advertising Setup Council of India (Q@GE‘TE‘%PT@_C' 30 HIRIRTA 3H '-(;I%ql)

Question Number : 174 Question Id : 7532293818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The number of times a consumer is exposed to an advertisement is often called as
Options :

1. # Style

2. ® Perceptions

3. ¥ Impressions

4. ® Perspectives

Question Number : 174 Question Id : 7532293818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % R (Style)

2. % YRUMSA (Perceptions)

3. ¢ 3{h (Impressions)




4, % W(Perspectives)

Question Number : 175 Question Id : 7532293819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
type of ads, reminds people about the need for a product or service, or the features and benefits it will provide when they purchase
promptly.
Options :
1. # Informative Advertising
2. ¥ Reminder Advertising
3. # Subliminal Advertising
4. % Reputational Advertising

Question Number : 175 Question Id : 7532293819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % IIHD AU (Informative Advertising)
2. ¢ HJHRD fasma= (Reminder Advertising)
3. # 3/dd [ (Subliminal Advertising)
4. % YIS3TORS [0 (Reputational Advertising)

Question Number : 176 Question Id : 7532293820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Drunk driving, drug use, and practicing a healthy lifestyle etc. are examples of
Options :

1. ¥ GSA

2. % RSA

3. % TSA



4. ¥ PSA

Question Number : 176 Question Id : 7532293820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® GSA

2. % RSA

3. % TSA

4. ¥ PSA

Question Number : 177 Question Id : 7532293821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Media objectives are normally started in terms of three dimensions, namely Reach, Frequency and
Options :

1. # Pulsing

2. # Flighting

3. % Continuity

4. # Transiting

Question Number : 177 Question Id : 7532293821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # T (Pulsing)

2. % HIIqs (Flighting)

3. ¢ ARARAT (Continuity)

4. % YhHUT (Transiting)



Question Number : 178 Question Id : 7532293822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

_______means number of different persons or households exposed to a particular media vehicle or media schedule at least once during a specified
time period.

Options :

1. ¥ Reach

2. # Frequency

3. ® Continuity

4. # Transiting

Question Number : 178 Question Id : 7532293822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

 H1 3 g ol et SfR UfvaR| &t Ue fafRiy S ot U Ry Ie-s@afy & GRM &8 ¥ &8 U R fhut faRiy fifsar arem
1 gt & U H 311d B

Options :

1. ¥ Ugd (Reach)

2. % 3‘|T§ﬁ[ (Frequency)

3. % fRaRan (Continuity)

4. % HhHUM (Transiting)

Question Number : 179 Question Id : 7532293823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The decision to choose the best combination of advertising media to achieve the goals of the campaign is called
Options :

1. % Advertising Mix

2. ¥ Media Mix

3. ¥ Campaign Mix

4. ¥ Channel Mix



Question Number : 179 Question Id : 7532293823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foralt SIFAT & e B Ut o & fore famom Hifsan & qarad e & g+ &1 e & FTH I ST ST g |
Options :

1. % fagmo= fasor (Advertising Mix)

2. ¢ HifSar YU (Media Mix)

3. % 3T s (Campaign Mix)

4. % I fHUT (Channel Mix)

Question Number : 180 Question Id : 7532293824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
involves heavy spurts of advertising, followed by periods with no advertising.
Options :
1. # Pulsing
2. ¥ Flighting
3. % Continuity

4. # Transiting

Question Number : 180 Question Id : 7532293824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS THI I HATID [0 HRAT 3R ISP 916 $& THI I (AU [TAHd §G B o D (o1 T HEaAK 82
Options :

1. % WS (Pulsing)

2. ¥ HIqg (Flighting)

3. % fARARdT (Continuity)

4. % YhHUT (Transiting)
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Question Number : 181 Question Id : 7532293825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A press release must NOT have

Options :

1. # Headline

Discipline5

10
753229204

Discipline5

753229204
1

Online
Mandatory
20

20

20

Yes

1
753229245
Yes



2. % A dateline
3. #* Your contact details

4. ¥ Superlatives

Question Number : 181 Question Id : 7532293825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Teh U fagifee o EEKRIEINY
Options :

1. % 2

2. % fafy

3. % U faavur

4. S

Question Number : 182 Question Id : 7532293826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two components are important in any creative strategy namely and

Options :

1. # Product and Process

2. % Reach and Frequency

3. % Message and Appeal

4. % Supplier and Compeititor

Question Number : 182 Question Id : 7532293826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fopaft off TerTees Yorifa | 3R AT &l Uch HE@YU aid ol

Options :

1. % IS 3R fehar
2. ¢ UEd 3R 3Mgf




3. % Fou 3R dtd
4. % IMyfdiepdf 3R ufqatt

Question Number : 183 Question Id : 7532293827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The British government started the Bureau of Public Information which later became the
Options :

1. ¥ Press Information Bureau

2. % Press Council of India

3. % Press Regulatory Authority of India

4. # Central Board of Film Certification

Question Number : 183 Question Id : 7532293827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffex TR 7 AdSHS a1 &R = a1 ot a1g | §9 T4
Options :

1. ¢ U a1 &R0

2. % YR Ug uReg

3. % YR U o grieeor

~

4. % g ey yAUAE A1

Question Number : 184 Question Id : 7532293828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When you include an image in your tweet, you boost its chances of being shared and changing minds. This form of communication is known as

Options :
1. ¥ Oral Communication
2. ¥ Visual Communication

3. ¥ Aural Communication



4. % Written Communication

Question Number : 184 Question Id : 7532293828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIS TG 3O gic § U A DI MA 6 & ol 39 ANl gRT 39 R fHT T SR anf & fGaRT & gRad= g9 &1 SuTa-sh i 9grd
g1 ¥OR & 39 =U B & T & ST ST g |

Options :

1. % A9 TaR

2. ¥ T AR

3. % & AR

4. % faRgd IaR

Question Number : 185 Question Id : 7532293829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To explain advertising working hierarchy of effects or sequential model is used.
Options :

1. ® SWOT

2. # RACE

3. ¥ AIDA

4. % ROSIE

Question Number : 185 Question Id : 7532293829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fARITO & SRV &I FHSH & forg THTT UTIshH TT SIeh e HIsd HI SXIHTd fohal STar g |
Options :

1. # SWOT

2. % RACE

3. ¥ AIDA




4. % ROSIE

Question Number : 186 Question Id : 7532293830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person likes chocolates but he/she is also trying to lose weight. This feeling by the consumer is known as
Options :

1. ¥ Cognitive Dissonance

2. % Cognitive Consonance

3. # Conative Dissonance

4. % Conative Consonance

Question Number : 186 Question Id : 7532293830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U% Afad &I Flaic UuS § Afch 98 YT Ioid HH B Bt HIRA Ht B2 |1 7 | SuHIF gRT USRid 31 Hia-1 &1 & A
I ST ST ] |

Options :

1. ¢ GIHETHES qAWG

2. % IJHTHD dTHd

3. % fopaTee Havg

4. % fopgTdH® qradd

Question Number : 187 Question Id : 7532293831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Following is not included in the media kit
Options :

1. ¥ Organization strategy papers

2. # Press Release

3. ¥ CV/Biography

4. ¥ Background information



Question Number : 187 Question Id : 7532293831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
_ Tifsarfee o e g gl
Options :

1. ¢ TG 1 UM &b BT

2. % U9 fagfd

3. % CV/IRUThI

4. % QY Pl BRI

Question Number : 188 Question Id : 7532293832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

______isalist of contacts in the media and elsewhere in the public affairs sphere which a PR professional accumulates while working on field.
Options :

1. % Circuit

2. % Press note

3. ¥ Rolodex

4. ¥ Press junket

Question Number : 188 Question Id : 7532293832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Iﬂ%%THT qrdS% ATEl & fBdT 3T &F H B HRA a1 URIGR o HIe | B Hd &, d SUb U1 U U ot it o, 3 o1 Hal
SIldl 82
Options :

1. % gfdhe (Circuit)

2. % g A (Press note)
3.¢ W(Rolodex)

4. ® Ug Sidhe (Press junket)




Question Number : 189 Question Id : 7532293833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is not true?

Options :

1. # Crisis communications is a critical organizational function

2. ¥ Public relations practitioners are not an integral part of crisis management teams

3. # Crisis management is a process designed to prevent or lessen the damage a crisis can inflict on an organization and its stakeholders.

4. % A key component of crisis team training is spokesperson training.

Question Number : 189 Question Id : 7532293833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 @ oH-91 Hy9 9 T8l 82

Options :

1. % Yo YR U Heayul WToTHS B g

2. ¢ SFRIUSD HAUR, Ydhe T Sl o1 fNT 3T 181 g

3. % Tdhe JeeE U U Ufchan g for ol TiTe SiR 3% RAUR®| &I Adhe 1 g aTal JHAM BI A T HH B o (o fSolre
foraT T g |

4. % e A UIRI&01 HT U TE g Uaad UIRI&U ¢ |

Question Number : 190 Question Id : 7532293834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
seeks to be bridge gap between where we are and where we want to reach.
Options :
1. # Organizing
2. ¥ Planning
3. ® Directing
4. ® Staffing



Question Number : 190 Question Id : 7532293834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g1 §H & SR OT51 89 U T I18d &, & §d &1 WIs ! UleH &1 36-d F1 Hadldl g2
Options :

1. % 3 (Organizing)

2. ¢ A (Planning)

3. ® ﬁélgl:[(Directing)

4. % I (Staffing)

Question Number : 191 Question Id : 7532293835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Industrial relations include securing effective and willing cooperation from employees and between employers and workers and their
representatives, the trade unions.

Options :

1. # Increasing conflict

2. ®% Reduced cordial relation
3. #* Increased demotivation
4. ¥ Reducing conflict

Question Number : 191 Question Id : 7532293835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

sﬁaﬁmweﬁg,mﬁﬁﬁuwaﬁ?mwmmamﬁmw&ﬁ&ﬁ?w@?WW,WW%W
RS

Options :

1. % fqdrg IgMT

2. % WiEeyul &y & HH HXAT
3. % TS R

4. ¢ fadrg § S BT



Question Number : 192 Question Id : 7532293836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Human Resource Management deals employee welfare. At the level of maintaining industrial relations, HRM primarily deals with
Options :

1. ¥ Labor and trade unions

2. % Government

3. % Suppliers

4. ¥ Competitors

Question Number : 192 Question Id : 7532293836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ha IG1E Tee BHART S Jefdd 81 i et a8 3@ & TR R, HRM T 70 3 T TR B
Options :

1. ¥ TOIGR 3R ToigR ¥4

2. % AXHR

3. % TYfciapdia

4. % gieIigl

Question Number : 193 Question Id : 7532293837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There is a need to align with that of the HR strategy to ensure that there is alignment of the people policies with that of the management
objectives.

Options :

1. # Competitor goals

2. # Supplier goals

3. ¥ Organizational goals
4. ¥ People goals

Question Number : 193 Question Id : 7532293837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ig gAfErd B & fore fop o =fifaar iR usiem S ue g fexn & rf &9, DI A I 0 & 1 WA B Bt
S{Ta=IH T gIch 5|

Options :

1. % gfoan d&g
2. % 3MYfddmal a&d
3. ¢ g3 A&
4. % S AL

Question Number : 194 Question Id : 7532293838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

____may be considered as a barrier in effective multicultural communication.
Options :

1. # Message

2. % Medium

3. # Technology

4. ¥ Stereotyping

Question Number : 194 Question Id : 7532293838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HI GUTH! TEURPIAH JIR H U 191 & &9 & 7HT o G g |
Options :
1. % ™
2. % HYH
3. % debeilh
4. ¢ Tfedgdl

Question Number : 195 Question Id : 7532293839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

people are not part of the same peer group as the people they influence. Their defining characteristic is that they exert personal
influence because of their profession, authority, education, or status associated with the object of the communication process.

Options :

1. * Opinion Leaders
2. % Opinion Gatherers
3. # Opinion Followers

4. ¥ Opinion Formers

Question Number : 195 Question Id : 7532293839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I TeHH! JUE &1 W 781 81 &, PRwR 3 HTa S1ed g | 37at uRyIT fa=iear o8 8 i 3 orm O, i, fRrerm,
AR UfehdT & 320 3§ Jo! fUfd & HRUT safdavTd UHTd STed ¢ |
Options :
1. % fqgR = (Opinion Leaders)
2. % fdOR UHhas (Opinion Gatherers)
3. % fqOR 3‘|_jBZIT*ﬂ (Opinion Followers)
4. ¢ fa=m fAmtar (Opinion Formers)

Question Number : 196 Question Id : 7532293840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Companies are designing specific programs and policies to enhance employee inclusion and promotion, and retention of employees who are from
different backgrounds and cultures. This process may be known as

Options :

1. # Performance Management
2. ¥ Diversity Management

3. # Inventory Management

4. % Marketing Management



Question Number : 196 Question Id : 7532293840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HU], FHART JAC R THRM B FeTal o & fore auT fafia ggufiy 3iR T iadl ¥ 3 ard HHATRa! &I A6 § -1 G &
fore fafy erdepH 3R =ifoat dTuR o1 w1 59 ufhar o P =T H SfFT ol ghdT 5|

Options :

1. % IUdafss gaeH (Performance Management)
2. ¢ fafquar useH (Diversity Management)

3. % {[éﬁ 'ERE] (Inventory Management)

4. % fqUUE ydYA (Marketing Management)

Question Number : 197 Question Id : 7532293841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Managers must ensure they are following to ensure effective communication and counselling in an organization.
Options :

1. ¥ Lacking empathy

2. # Losing trust

3. % Understanding of self

4. % Lack of respect of employees

Question Number : 197 Question Id : 7532293841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Taeeh! ! I8 YATT BT A1eT [ 3 ol e & guTel TR SR IRl gHfed & & e BT R G & |
Options :

1. % GETIH{d B HHl

2. % fayrg @M

3. ¢ WY P gU

4. % HHATRYT & T BT HH!




Question Number : 198 Question Id : 7532293842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

____1is considered as behavior of powerful leaders.

Options :

1. # They supervise closely.

2. # They do not delegate authority to make decisions.

3. # They often distrust subordinates and see people’s talents as a threat.

4. ¥ They delegate decision authority.

Question Number : 198 Question Id : 7532293842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

370 9 ford Tfgaemmel Aarefi &1 agR JHT ST 82

Options :

1. % 3 TR Y AR #d B

2. % 3 ol R 7 SAfIBR U Ui &) 78 aa B

3. % 9 U 37efTRI TR UT: AT R & SR ANl bl UTaHT DI Teh Wk & =0 H ¢Wd g |
4. ¢ 9 Folg &1 & ferg wfafAfd frged #d B

Question Number : 199 Question Id : 7532293843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The objective of compensation management is to make informed decisions based on salary market data, industry, company size, job role,
and location.

Options :

1. ¥ Compensation
2. % Employee

3. ¥ Manager

4. ® Infrastructure

Question Number : 199 Question Id : 7532293843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ G3ATTol

2. % HHAR

3. % JdYD

4. % MYRYT I

Question Number : 200 Question Id : 7532293844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Organizations encounter many different forces for change. These forces come from external sources outside the organization and from internal
sources. may be considered as an external force.

Options :

1. % Human resources

2. % Managerial decisions
3. % Market changes

4. # Organizational infrastructure

Question Number : 200 Question Id : 7532293844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gRkadH & forg e+ & agd AT SIT- 31T Wfddd! &1 [T 31 Bidl ¢ | A Xfaaai A6 & Hidke iR TR Fai 4 ot gl &l
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Options :

1. ® gHd 99199

2. % YYD fAuig

3. ¢ 9NIR H §gad

4. % JBATHD §-ATal ol




